DISCUSSION

The Leucaena leucocephala (Lam. de Wit) tree mainly used as fodder. The dairy and cattle, poultry and fishery have been supplied with the leaves of this tree. L. leucocephala (ipil-ipil) has been found to be a valuable forage and feed for our live stocks. Its leaf and seed meals are in wider use in many tropical countries including Bangladesh. Many reports have discussed its side effects in different domesticated animals and chicken. Rahman and Dewan, (1988) described pathological effects of Leucaena seed meal in the duck (Anas platythyncha domestica) in Bangladesh.

But from the field experience and some research works (Rahman and Dewan, 1988; Scott, *et. al.* 1969) on this plant indicated that, the leaves and other parts of the tree, which have been used as fodder can do harm to the animals. Although some works have been done on the animals, poultry birds regarding the *L. leucocephala* tree but a little work have so far been done with the fish in this country.

The haematological parameters of the fish reflect the ecological conditions of its habitat, nutritional states, which are found to vary in different fish groups. In the teleosts, these parameters are found to vary from species to species. Any deviation from normal may be a clue to the physiological and pathological state of the animal. During the experiment, the behavioral, physical, haematological and histopathological parameters were changed due to *L. leucocephala* leaf and seed food on *C. punctatus* and *O. niloticus* respectively in different amount for two months.

The test results reviewed that the each and every parts of *Leucaena leucocephala* contains alkaloid, flavonoid, terpinoid, steroid, saponins. Different research study reviewed that the amount of mimosine content among the different species of *Leucaena leucocephala* seed is higher (2.2% to 10%) than the other parts leaf and bark (1.2 to 5.4%), (Ter Meulen U. Struck E, El-Harith EA. 1979).

The effects of *L. leucocephala* leaf on *C. punctatus* and *O. niloticus* was observed in different amount as 25%, 30%, 35% and 40% of total food, which was calculated 2% of the total body weight. The effects of the *L leucocephala* leaf food was considered as behavioral, physical, haematological and histopathological changes observed in

C. punctatus and *O. niloticus* in different amount. Total five study groups were taken. Here one group was taken as control. Ten fishes were kept for each group.

The effects of *L. leucocephala* seed on *C. punctatus* and *O. niloticus* was observed in different amount as 20% 25%, 30%, and 35% of total food, which was calculated 2% of the total body weight. The effects were considered as behavioral, physical haematological and histopathological changes observed in *C. punctatus* and *O. niloticus* in different amount. Total five study groups were taken. Here one group was kept as control. Ten fishes were taken for each group.

Behavioral changes

The effect on behavior of the fish *C. punctatus* due to *L. leucocephala* leaf was loss of appetite and slow in movement. In each group this phenomena was exhibited in several fishes and was compared with the control group. The effect on behavior of the fish *O. niloticus* due to *L. leucocephala* leaf was loss of appetite, loss of normal movement and erratic swimming. In each group this phenomena was exhibited in several fishes and was compared with the control group.

The effects on behavior of the fish *C. punctatus* due to *L. leucocephala* seed was loss of appetite and loss of movement, excessive mucous secretion and accumulation on the skin and gills. The effects on behavior of the fish *O. niloticus* due to *L. leucocephala* seed was erratic swimming, loss of normal movement and loss of appetite. In each group this phenomena was exhibited in several fishes and was compared with the control group.

Different workers have reported their observations about the physical responses of the fishes in their respective media. Latifa *et.al.* (1987, 1988, 1992); Chowdhury (1996) and Begum (1986) have reported increase in the dose level caused a decreased in the reduction time of total loss of equilibrium in the species.

Physical changes

The physical changes, which were observed after feeding different amount of 25%, 30%, 35% and 40% *L. leucocephala* leaf in four groups of *C. punctatus* were lesion on caudal region, erosion of fins, puffed and loose scales, lesions on skin and muscle and scoliosis, exophthalmus. The physical changes, which were observed after feeding different amount of 25%, 30%, 35% and 40% *L. leucocephala* leaf groups of *O. niloticus* were lesion on skin and erosion on caudal fin, exophthalmus, lesions on skin, puffed and loose scales, fading of body color and change in pigment. These changes were exhibited in each group of fishes.

The physical changes, which were observed after feeding different amount of 20%, 25%, 30% and 35% *L. leucocephala* seed groups were lesions on skin, puffed and loose scales, lesions on caudal region, exophthalmus, scoliosis and abnormality in egg structure. The physical changes, which were observed after feeding different amount of 20%, 25%, 30% and 35% *L. leucocephala* seed groups were erosion of caudal fin, lesion on skin, puffed and loose scales, fading of body color and change in pigment, exophthalmus, curvature in preopercle bone. These changes were exhibited in each group of fish. Akhtar (1994) discussed the physical changes of the body, restlessness and slime secretion.

Haematological changes

The blood volume of fishes varies between 2 and 8% of the body volume. One third to one half of the total blood volume in fish consists of blood cells the rest is fluid plasma. There are two types of celluler elements in blood, i.e. red blood corpuscles and white blood corpuscles. The comparative data of haematological analysis of experimental and control fishes are shown in tables.

Erythrocyte

In this investigation total erythrocyte ranged from 3.09 to 3.26 x 10^6 /mm³ for *C. punctatus* and 8.04 to 8.46 x 10^6 /mm³ for *O. niloticus* in case of *L. leucocephala* leaf group. Other investigation of *L. leucocephala* seed food group total erythrocyte ranged from 3.08 to 3.26 x 10^6 /mm³ for *C. punctatus* and 8.28 to 8.56 x 10^6 /mm³ for *O. niloticus*. The highest number of erythrocyte found in the control group of *C.*

punctatus whereas the number was gradually decreasing with the raising percentage of *L. leucocephala* seed group 20%, 25%, 30% and 35%. In present investigation the highest number of erythrocyte of *O. niloticus* found in 20% *L. leucocephala* seed group of whereas the number was gradually decreasing with the raising percentage of *L. leucocephala* seed group 25%, 30% and 35%. Erythrocyte amount was 6.93 \pm 8.28 x 10⁶/mm³ in *O. niloticus* reported by Bittencourt, N. de L. R *et al.* (2003). Difference in count was reported by Shrama & Shandilya, (1982), *Clarias batrachus* with 4.50 \times 10⁶/ mm³ and with 2.55 \times 10⁶/ mm³ Geol *et.al.*, (1984) reported higher erythrocyte count in to active fishes among *Mystus tengra*, *Oreochromis niloticus*, *Labeo bata, Labeo corsa, Notopterus notopterus, Mastacembalus and Channa puctatus* (Joshi, 1989) reported higher erythrocyte count in *China gachua*.

Leucocyte

In case of *L. leucocephala* leaf group total leucocyte ranged from 32.59 to 37.85 x 10^3 /mm³ for *C. punctatus* and 40.01 to 52.28 x 10^3 /mm³ for *O. niloticus*. In other case of *L. leucocephala* seed group total leucocyte ranged from 32.16 to 37.85 x 10^3 /mm³ for *C. punctatus*.and 38.72 to 52.28 x 10^3 /mm³ for *O. niloticus*. In present observation the highest number of leucocyte found in the control group of both cases whereas the number was gradually decreasing with the raising percentage of *L. leucocephala* leaf and seed food group.

Thrombocyte

In case of *L. leucocephala* leaf group total thrombocyte ranged from 43.63% to 45.69% for *C. punctatus* and 54.47% to 57.02% for *O. niloticus*. In other case of *L. leucocephala* seed group total thrombocyte ranged from 43.36% to 45.69% for *C. punctatus* and 54.07% to 57.02% for *O. niloticus*. In present observation the highest number of leucocyte found in the control group of both cases whereas the number was gradually decreasing with the raising percentage of *L. leucocephala* leaf and seed group.

Lymphocyte

In this investigation lymphocyte ranged from 21.19% to 22.51% for *C. punctatus* and 26.83% to 28.08% for *O. niloticus* in case of *L. leucocephala* leaf group. Other investigation of *L. leucocephala* seed group lymphocyte ranged from 21.64% to 22.51% for *Channa punctatus* and 26.63% to 28.08% for *Oreochromis niloticus*. In all the investigation the highest number of lymphocyte found in the control group whereas the number was gradually decreasing with the elevating percentage of *Leucaena leucocephala* leaf and seed group. Vertebrate lymphocytes are highly differentiated cell which responds to immunological stimuli in a variety of ways. White, (1954) called them immune-competent cells.

Monocyte

In this investigation monocyte ranged from 4.30% to 5.60% for C. punctatus and 7.20% to 8.30% for O. niloticus in case of L. leucocephala leaf group. In present observation the lowest percentage of monocyte found in the control group whereas the highest percentage was found in 30% L. leucocephala leaf group. The percentage of monocyte was gradually increasing with the raising percentage of L. leucocephala leaf group 25%, 30%, whereas the percentage was gradually decreasing in 35% 40% group. Other investigation of L. leucocephala seed group monocyte ranged from 4.30% to 5.00% for *C. punctatus* and 6.80% to 8.00% for *O.* niloticus in case of L. leucocephala seed group. In present observation the lowest percentage of monocyte found in the control group of C. punctatus whereas the percentage was gradually increasing with the raising percentage of L. leucocephala seed group 20%, 25%, 30%, and 35%. In present observation the highest percentage of monocyte found in the control group of O. niloticus whereas the percentage was gradually decreasing with the raising percentage of *L. leucocephala* seed group 20%, 25%, 30% except 35%.

Neutrophil

In case of *L. leucocephala* leaf group neutrophil ranged from 23.00% to 24.30% for C. punctatus and 4.20% to 7.50% for O. niloticus. In present observation the highest percentage of neutrophil found in the 25% L. leucocephala leaf group of C. punctatus whereas the percentage was gradually decreasing with the raising percentage of L. leucocephala leaf group 30%, 35% and 40%. In present investigation the lowest percentage of neutrophil found in the control group of O. niloticus whereas the percentage was gradually increasing with the raising percentage of L. leucocephala leaf group 25%, 30%, 35% except 40%. In other case of L. leucocephala seed group neutrophil ranged from 23.50% to 24.60% for *C. punctatus*. and 4.20% to 6.40% for O. niloticus. In present observation the lowest percentage of neutrophil found in the control group whereas the percentage was gradually increasing with the raising percentage of L. leucocephala seed 20%, 25%, 30%, and 35%. In present investigation the lowest percentage of neutrophil found in the control group of O. niloticus whereas the highest percentage found in 20% L. leucocephala seed group. The percentage of neutrophil was gradually decreasing with the elevating percentage of L. leucocephala seed 25% and 30% except 35%.

Eosinophil

In this investigation eosinophil ranged from 3.60% to 5.70% for *C. punctatus* and 2.30% to 4.20% for *O. niloticus* in case of *L. leucocephala* leaf group. Other investigation of *L. leucocephala* seed group eosinophil ranged from 3.60% to 5.10% for *C. punctatus* and 2.50% to 5.30% for *O. niloticus*. In all the invastigation the lowest number of eosinophil found in the control group whereas the number was gradually increasing with the elevating percentage of *L. leucocephala* leaf and seed group. In case of *C. punctatus* except 40% *L. leucocephala* leaf food group and in *O. niloticus* 35% *L. leucocephala* seed group.

Basophil

In this investigation basophil ranged from 0.40% to 0.60% for *C.punctatus* and 0.40% to 0.20% for *O. niloticus* in case of *L. leucocephala* leaf group. In present observation the lowest percentage of basophil found in the control group of *C. punctatus* whereas the percentage was gradually increasing with the elevating

percentage of *L. leucocephala* leaf group 25%, 30%, 40% except 35%. In present investigation the highest percentage of basophil found in the control group of *O. niloticus* whereas the percentage was gradually decreasing with the raising percentage of *L. leucocephala* leaf group 25%, 30%, 35% and 40%. In other investigation basophil ranged from 0.30% to 0.50% for *C. punctatus* and 0.20% to 0.30% for *O. niloticus*. In present investigation the highest percentage of basophil found in 30% of seed group of *C. punctatus* whereas the percentage was gradually decreasing with the elevating percentage of *L. leucocephala* seed group 20%, 25%, 35% except 30% from control group. In present observation the lowest percentage of basophil found in the control group of *O. niloticus* whereas the percentage was gradually increasing with the raising percentage of *L. leucocephala* seed group 20%, 25%, 30% and 35%.

Effect of *L. leucocephala* leaf and seed on other haematological parameters of *C. punctatus* and *O. niloticus*

Some other haematological parameters i.e. hemoglobin, hematocrit and other calculated haematological parameters MCV, MCH and MCHC were observed after feeding *L. leucocephala* leaf and seed by *C. puctatus* and *O.niloticus*.

Haemoglobin

In this investigation haemoglobin ranged from 11.71 to 12.06 g/dl for *C. punctatus* and 9.84 to 10.22 g/dl for *O. niloticus* in case of *L. leucocephala* leaf group. Other investigation of *L. leucocephala* seed group haemoglobin ranged from 11.82 to 12.06 g/dl for *C. punctatus* and 10.00 to 10.22 g/dl for *O. niloticus*. In all the investigation the highest number of hemoglobin found in the control group whereas the number was gradually decreasing with the elevating percentage of *L. leucocephala* leaf and seed group. Haemoglobin amount was10.52 ± 3.09 g/dl in *Oreochromis nilotica* reported by Bittencourt *et al.* (2003). According to Ramaswamy and Reddy (1978) it may be reach oxygen stimulating syndrome. Haemoglobin concentration of active *Clarias batrachus* was higher than a sluggish as reported by Chowdhury (1999). A decrease in the number of RBC, WBC and haemoglobin contents was observed in the blood of treated fish *C. punctatus* and *O. niloticus*. These results support the view of Srivastava and Agarawal (1979); Rahman (2001); Chowdhury and Pervin (2002) who have reported similar decreased in the blood parameters.

Hematocrit

In present observation hematocrit ranged from 47.19 to 47.64 for *C. punctatus* and 34.20 to 34.48 for *O. niloticus* in case of *L. leucocephala* leaf group. Another investigation of *L. leucocephala* seed food group hematocrit ranged from 47.10% to 47.64% for *C. punctatus* and 34.26% to 34.48% for *O. niloticus*. In all the investigation the highest number of hematocrit found in the control group whereas the number was gradually decreasing with the raising percentage of *L. leucocephala* leaf and seed group. Hematocrit amount was $31.85 \pm 8.45\%$ in *Oreochromis nilotica* reported by Bittencourt *et al.* (2003).

MCV

In present observation MCV ranged from 147.03 to 153.83fl for *C. punctatus* and 40.81 to 43.51fl for *O. niloticus* in case of *L. leucocephala* leaf group. Another investigation of *L. leucocephala* seed group MCV ranged from 147.03 to 153.16fl for *C. punctatus* and 40.81 to 41.78fl for *O. niloticus*. In all the investigations the lowest number of MCV found in the control group whereas the number was gradually increasing with the raising percentage of *L. leucocephala* leaf and seed group.

MCH

In present observation MCH ranged from 37.13 to 38.11pg for *C. punctatus* and for 12.00 to 12.36pg *O. niloticus* in case of *L. leucocephala* leaf group. Another investigation of *L. leucocephala* seed food group MCH ranged from for 37.19 to 38.44pg *C. punctatus* and 12.00 to 12.05pg for *O. niloticus*. In all the investigations the lowest number of MCH found in the control group whereas the number was gradually increasing with the raising percentage of *L. leucocephala* leaf and seed group.

There was a increasing trend found in the number of MCV and MCH observed in the blood of treated fish *C. punctatus* and *O. niloticus*. These results support the view of Bittencourt *et al.* (2003) who have reported that the erythrocytes count was positively correlated with hemoglobin and negatively correlated with MCV and MCH.

MCHC

In this investigation MCHC ranged from 24.80 to 25.31% for *C. punctatus* and 28.61 to 29.41% for *O. niloticus* in case of *L. leucocephala* leaf group. Other investigation of *L. leucocephala* seed group MCHC ranged from 25.09 to 25.31% for *C. punctatus* and 28.98 to 29.41% for *O. niloticus*. In all the observations the highest number of MCHC found in the control group whereas the number was gradually decreasing with the elevating percentage of *L. leucocephala* leaf and seed group.

Effects of *L. leucocephala* leaf and seed on biochemical parameters of *C. punctatus* and *O. niloticus*

Biochemical parameters *viz.* total protein, albumin, globulin, glucose, urea, creatinine and cholesterol were observed after feeding *Leucaena leucocephala* leaf and seed by *Channa puctatus* and *Oreochromis niloticus*.

Total Protein

In present observations total protein ranged from 2.02 to 2.53 g/dl for *C. punctatus* and 2.48 to 3.18 g/dl for *O. niloticus* in case of *L. leucocephala* leaf group. Another investigation of *L. leucocephala* seed group total protein ranged from 2.02 to 2.38 g/dl for *C. punctatus* and 2.48 to 3.03 g/dl for *O. niloticus*. In all the investigations the lowest amount of total protein found in the control group whereas the number was gradually increasing with the raising percentage of *L. leucocephala* leaf and seed group .The total protein range of 2 to 6g/dl was found in healthy juvenile rainbow trout *Salmo gairdneri*. The variation in the range may be seen possibly as an effect of environmental stretch. Too low level of total protein may be due to infectious disease or kidney damage and too high level may indicate impaired water balance (Wedemeyer and Yasutake, 1977).

Albumin

In present observations albumin ranged from 0.94 to 1.18 g/dl for *C. punctatus* and 1.15 to 1.49 g/dl for *O. niloticus* in case of *L. leucocephala* leaf group. Another investigation of *L. leucocephala* seed group albumin ranged from 0.94 to 1.12 g/dl for *C. punctatus* and 1.15 to 1.41 g/dl for *O. niloticus*. In all the investigations the lowest

amount of albumin found in the control group whereas the number was gradually increasing with the raising percentage of *L. leucocephala* leaf and seed group.

Globulin

In present observation ranged globulin from 1.08 to 1.35 g/dl for *C. punctatus* and 1.33 to 1.69 g/dl for *O. niloticus* in case of *L. leucocephala* leaf group. Another investigation of *L. leucocephala* seed food group globulin ranged from 1.08 to 1.25 g/dl for *C. punctatus* and 1.33 to 1.62 g/dl for *O. niloticus*. In all the investigations the lowest amount of globulin found in the control group whereas the number was gradually increasing with the raising percentage of *L. leucocephala* leaf and seed group.

Glucose

In present observation glucose ranged from 48.78 to 59.80 mg/dl for *C. punctatus* and 64.65 to 80.51 mg/dl for *O. niloticus* in case of *L. leucocephala* leaf food group. Another investigation of *L. leucocephala* seed food group glucose ranged from 48.78 to 60.49 mg/dl for *C. punctatus* and 64.65 to 78.86 mg/dl for *O. niloticus*. In all the investigations the lowest amount of glucose found in the control group whereas the number was gradually increasing with the elevating percentage of *L. leucocephala* leaf and seed group. The estimated rate of glucose in healthy juvenile rainbow trout *Salmo gairdeneri* showed the value 41to 151mg/dl. Too high level of glucose may be resulted from acute or chronic stress (Wedemeyer and Yasutake, 1977).

Urea

In present observation urea ranged from 7.73 to 9.59 mg/dl for *C. punctatus* and 8.48 to 10.20 mg/dl for *O. niloticus* in case of *L. leucocephala* leaf group. Another investigation of *L. leucocephala* seed group urea ranged from 7.73 to 9.43 mg/dl for *C. punctatus* and 8.48 to 9.93 mg/dl for *O. niloticus*. In all the investigations the lowest amount of urea found in the control group whereas the number was gradually increasing with the elevating percentage of *L. leucocephala* leaf and seed group.

Creatinine

In present observation creatinine ranged from 0.17 to 0.21 mg/dl for *C. punctatus* and 0.16 to 0.20 mg/dl for *O. niloticus* in case of *L. leucocephala* leaf group. Another investigation of *L. leucocephala* seed group creatinine ranged from 0.17 to 0.21 mg/dl for *C. punctatus* and 0.16 to 0.20 mg/dl for *O. niloticus*. In all the investigations the lowest amount of creatinine found in the control group whereas the number was gradually increasing with the elevating percentage of *L. leucocephala* leaf and seed group.

Cholesterol

In present observation cholesterol ranged from 64.32 to 73.95 mg/dl for *C. punctatus* and 116.20 to 137.40 mg/dl for *O. niloticus* in case of *L. leucocephala* leaf group. Another investigation of *L. leucocephala* seed group cholesterol ranged from 64.32 to 75.72 mg/dl for *C. punctatus* and 116.20 to 137.48 mg/dl for *O. niloticus*. In all the investigations the lowest amount of cholesterol found in the control group whereas the number was gradually increasing with the elevating percentage of *L. leucocephala* leaf and seed group. Sharma *et.al.* (1982) reported increased serum cholesterol in *Clarias batrachus* and *Heteropneustes fossilis* which were given congo red.

Different haematolocal parameters of *C. punctatus* and *O. niloticus* compared with control group and after feeding *L. leucocephala* leaf and seed

The Correlation coefficient of different haematolocal parameters of *C. punctatus* compared with control group after feeding different amount of 25%, 30%, 35% and 40% *L. leucocephala* leaf. The haematological parameters i.e. length, weight, TEC, TLC, thrombocyte, lymphocyte, monocyte, neutophil, eosinophil and basophil of *C. punctatus* and *O. niloticus* in 25%, 30%, 35% and 40% *L. leucocephala* leaf feeding groups were individually compared with control group. All the haematological parameters of 25% feeding group of *C. punctatus* was positively correlated with control group. Among the groups neutophil of 30%, monocyte and basophil of 35% and thrombocyte, lymphocyte, neutophil and basophil of 40% *L. leucocephala* leaf feeding group showed the negative correlation with the control group. Eosinophil of

all feeding groups, basophil of 25% and 30% and monocyte of 35% and 40% and of *O. niloticus* negatively correlated with the control group.

The haematological parameters i.e. length, weight, TEC, TLC, thrombocyte, lymphocyte, monocyte, neutophil, eosinophil and basophil of *C. punctatus* in 20%, 25%, 30%, and 35% *L. leucocephala* seed feeding groups were individually compared with control group. All the haematological parameters of 20% and 30% feeding groups of *C. punctatus* and 35% of *O. niloticus* was positively correlated with control group. Among the feeding groups monocyte of 25% and basophil of 35% of *C. punctatus* and lymphocyte and eosinophil of 30%, basophil of 20%, 25% and 30% of *O. niloticus* showed the negative correlation with the control group.

Different haematological parameters of *C punctatus* and *O. niloticus* compared with control group and after feeding *L. leucocephala* leaf and seed

The other haematological parameters i.e. TEC, Hb, Hct, MCV, MCH and MCHC of *C. punctatus* and *O. niloticus* compared with control group after feeding different amount of 25%, 30%, 35% and 40% *L. leucocephala* leaf group. Positive correlation was observed among all groups of *C. punctatus* compared with control group. A positive correlation was observed between 35% feeding group of *O. niloticus* and control group. The MCH of 25%, 30% and 40% and MCV of 40% feeding groups of *O. niloticus* negatively correlated with the control group.

The other haematological parameters i.e. TEC, Hb, Hct, MCV, MCH and MCHC of *C. punctatus* compared with control group after feeding different amount of 20%, 25%, 30%, and 35% *L. leucocephala* seed group. A positive correlation was observed among all groups of *C. punctatus* compared with control group except MCHC of 35%. The MCV of 20%, 25% and 30% and MCH of 20% feeding groups of *O. niloticus* were negatively correlated whereas 35% feeding group was positively correlated with the control group.

Different biochemical parameters of *C. punctatus* and *O. niloticus* compared with control group and after feeding *L. leucocephala* leaf and seed

The different biochemical parameters i.e. total protein, albumin, globulin, glucose, urea, creatinine and cholesterol of *C. punctatus* and *O. niloticus* compared with control group after feeding different amount of 25%, 30%, 35% and 40% *L. leucocephala* leaf group. A positive correlation was observed among all groups of *C. punctatus* and *O.niloticus* compared with control group.

The different biochemical parameters i.e. total protein, albumin, globulin, glucose, urea, creatinine and cholesterol of *C. punctatus* and *O. niloticus* compared with control group after feeding different amount of 20%, 25%, 30% and 35% *L. leucocephala* seed group. Positive correlation was observed among all groups of *C. punctatus* and *O. niloticus* compared with control group.

Effects on different haematological and biochemical parameters of C punctatus and O. niloticus after feeding L. leucocephala leaf and seed

The effects of *L. leucocephala* leaf and seed on different haematological, other haematological and biochemical parameters of *C. punctatus* and *O. niloticus* determined by analysis of variance. To determine the levels of significance among different percentage of *L. leucocephala* leaf and seed on *C. punctatus* and *Oreochromis niloticus*, Tukey HSD test was carried out for multiple comparisons. In case of *L. leucocephala* leaf, among the haematological parameters (TEC, TLC, thrombocyte, lymphocyte, monocyte, neutophil, eosinophil and basophil) only lymphocyte and eosinophil were highly significant in *C. punctatus* whereas thrombocyte, lymphocyte, neotrophil and eosinophil were highly significant in *O. niloticus* at the 5% level of significance. In case of *L. leucocephala* seed, weight and eosinophil were highly significant in *O. niloticus* at the 5% level of significant in *O. niloticus* at the 5% level of significant in *O. niloticus* at the 5% level of significant in *O. niloticus* at the 5% level of significant in *O. niloticus* at the 5% level of significance.

The effects of feeding different amount of *L. leucocephala* leaf and seed to the different other haematological parameters i.e. Hb Hct, MCV, MCH and MCHC of *C. punctatus* and *O. niloticus* were not statistically significant except Weight of *O. niloticus* of seed group which was statistically significant.

In case of *L. leucocephala* leaf, among the biochemical parameters (total protein, albumin, globulin, glucose, urea, creatinine and cholesterol) only total protein, albumin, globulin were highly significant in *C. punctatus* whereas total protein, albumin were highly significant in *O. niloticus* at the 5% level of significance but others were not statistically significant. In case of *L. leucocephala* seed, albumin of *C. punctatus* whereas weight of *O. niloticus* were highly significant at the 5% level of significance and total protein of *C. punctatus* and Glucose of *O. niloticus* were significant at the 10 % level of significance.

Effects on number of Eggs in the ovary of *C. punctatus* and *O. niloticus* after feeding *L. leucocephala* leaf and seed

The effects of feeding different amount of *L. leucocephala* leaf and seed on the number of eggs of *C. punctatus* and *O. niloticus* were highly significant. Tukey HSD test was carried out for multiple comparisons of the different percentage of *L. leucocephala leaf* and seed on the number of eggs of *C. punctatus* and *O. niloticus*. In case of *C. punctatus*, it was found that feeding 30%, 35% and 40% leaf whereas 30% and 35% seed were significantly different from the control at the 5% level of significance. In case of *O. niloticus* feeding 25%, 30%, 35% and 40% leaf whereas 25%, 30% and 35% seed were highly significant at the 5% level of significance.

Histopathological changes

The histopathological changes due to the effect of *Leucaena leucocephala* leaf and seed on *Channa punctatus* and *Oreochromis niloticus* was observed. The histopathological changes specially observed on tissues i.e. eye, gill, muscle, stomach, intestine, liver, kidney and gonad of the fishes. The experiment of feeding *Leucaena leucocephala* leaf and seed were conducted during the month of April 2008 to September 2012.

Eye

The eye of fish is composed of three layers; an outer sclera-corneal layer, a medial uveal layer, and an inner retinal layer. Histopathological changes in the eye perforation of sclera and gas bubbles in sclera, gas bubbles and haemorrhages in choroid were the common problems of the C. punctatus and O.niloticus observed in different groups of L. leucocephala leaf and seed groups. The protruding eye is enlarged, but generally no pathological changes in the tissues can be seen, neither can any parasites be found. Prof. Dr. Bruno Hofer states that it may be caused experimentally by blows or pressure on the head, but it can be hardly be likely that such is the natural cause of this disease (Van Duijin 1967). About the year 1930, Schaperclaus investigated several cases of Exophthalmia in fishes living in ponds and found that these were caused by Aeromonas punctata and a variety which he distinguished as forma sacrowiensis. Millemann and Knapp 1970 described exophthalmos and damage to the retina and cornea due to Nanophyetus salmincola, the "salmon poisoning" trematode. Orbital hemorrhages were seen. Kluge 1965, described an exophthalmos produced in mollies by a flavobacterium inducing granulomas in the optic nerve, orbit and retina. About 80% of the fish had unilateral or bilateral exophthalmos.

Gill

The main gill structure included gill bars and gill lamellae. The gill lamellae were attached to the cartilaginous gill bar. In the experimental groups distorted gill cartilages in filaments ovserved in 25% and 30% (fig.7, 8) *L leucocephala* leaf groups of *C. punctatus* and *O. niloticus*. Hypertrophy of epithelium on gill lamellae

observed in 35% and 40% (fig. 9, 10) and edema at bases of lamellae in 40% L leucocephala leaf food group (fig. 10) of C. punctatus whereas curling of secondary lamellae, of gill lamellae in 35% (fig. 54) and fusions of gill lamellae and swollen epithelium cells observed in 40% (fig. 55) L. leucocephala leaf group of O. niloticus. Distorted gill cartilages in filaments in 20% and 25% (fig.97, 98), hypertrophy of epithelium on gill lamellae found in 30% and 35% (fig. 99, 100) L. leucocephala seed group of *C. punctatus* whereas distorted gill cartilages in filaments in 20% (fig. 142), curling of secondary lamellae in 25% (fig. 143), and swollen epithelium cells in 30% (fig. 144) and fusions of gill lamellae found in 35% (fig. 145) L. leucocephala seed group of O. niloticus. Halver, Ashley and Smith (1969) studied the ascorbic acid requirements in coho salmon and rainbow trout, found distorted and twisted cartilage of gill filaments in fish fed a diet containing 5mg ascorbic acid per 100 grams of diet for 24 weeks. Wood and Yasutake (1957) described histopathological changes in the gill associated with nutritional gill disease. The authors inferred that shortened, swollen lamellae with very little structural distortion and hyperplasia of basal epithelium, distal fusion of filaments and complete fusion of adjacent filaments are present in fish fed a nutritionally deficient diet. On the other hand, Ghittino (1967) hypotherized that dusty, dry feeds rather than pantothenic acid deficiencies produce gill disease. In this study, fish developed gill disease although they were fed a diet containing adequate B-complex ingredients.

Muscle

The multiple nuclei lay at the periphery of the muscle fibers. Groups of the fibers were surrounded by a large pale area with loose connective tissues, the perimysium. The whole muscle or muscle bundle was surrounded by a denser connective tissue, the epimysium. Histopathological changes in the muscle, fungal hypa, vacuolar degeneration in muscle bundles, splitting of muscle fibers, degeneration in muscle bundles, these problems were common to all groups of *C. punctatus* and *O.niloticus* after feeding feeding *L. leucocephala* leaf and seed.

Stomach

Stomach showed four basic layers from inner to outer mucosa, submucosa, muscularis and serosa. Histopathological changes in the stomach, Granuloma in submucosal or mucosal layer found in all groups of *C. punctatus* and *O. niloticus*

after feeding *L. leucocephala* leaf and seed. Little work had been done on the etiology of nephrocalcinosis, although it has been speculated that it is just a species modification of visceral granuloma (Dunbar and Herman 1971). Water hardness may play a role. Workers in France, Besse *et. al.* 1968 found that after changing food supplies there was a marked reduction in the inadence of the disease, which suggests that handling and storage of food may be a key factor Aktar (1994) noted that the blood capillaries in the submucosal region of *H. fossilis* stomach were distorted and the epithelial cells are slightly degeneration by 50% ethyl alcohol extract (dry root bark) of *B. acutangula*.

Intestine

The intestine exhibits four basic layers from inner to outer: mucosa, submucosa, muscularis and serosa. Histopathological changes in the intestine, irregular shapes in mucosal folds, Less complex array of mucosal folds, complex array of mucosal folds, some degenerative changes in submucosal layer and Granuloma in muscularis layer found in different groups of C. punctatus and O. niloticus after feeding L. leucocephala leaf and seed. Dr. Herman and Mr. Dunbar (1971) followed the course of visceral granuloma rather closely from the very earliest stages of the disease with no evidence of parasites. Dr. Herman and Mr. Dunbar (1971) followed the course of visceral granuloma rather closely from the very earliest stages of the disease with no evidence of parasites. Visceral granuloma has been shown to be a diet-related disease and a strong but not complete correlation has been demonstrated between the incidence of visceral granuloma and the presence of cottonseed meal in the diet (Dunbar and Herman 1971). This disease resembles sarcoidosis, which is considered by Israel and Sons (1961) to be a hyper sensitivity reaction to some unknown widespread excitant. Aktar (1994) reported degeneration of the lining of epithelium, rupture of mucous membrane and also detected few small vacuoles in the tunica muscularis of the intestine caused by the 50% ethyl alcohol extract of dry root bark of *B. acutangula*.

Liver

The liver was composed of numerous polyhedral hepatic cells with prominent and granular cytoplasm and distinct central nucleus. The main hepatic structure included glisson's capsule, hepatic parenchyma cells which were separated by blood sinusoids and blood vessels. Histopathological changes in the liver, vacuolation of parenchyma, hemorrhages, vacuolation and congestion found in different groups of C. punctatus and O. niloticus after feeding L. leucocephala leaf and seed. Lowe (1967) observed clusters of large vacuoles in the deep periportal pancreatic acinar tissue in the liver. The vacuoles appeared to be intracellular, having caused hypertrophy of the acinar cells. He exposed 0.1 ppm sevin for five months (LD50 12days=1.0 ppm) in flowing sea water and have found a possible change in the introheptic pancreatic tissue in the liver. Vacuolation or hepatocytes degeneration in hypothecates in A. testudineous was commonly found with Furadan and Padan treatments (Kabir and Ahmed, 1979). At 3.36 and 1.68kg/lha dosage Furadan caused degeneration of parenchymal cells when exposed for 7 days. Centrolobular damage was recorded at 15 days exposure to 3.36kg/ha. Focal areas of necrotic tissue were present at 15 days with 1.68kg/ha dosage. At .84 dosage cytoplasmic degeneration was present at 7 days exposure (Kabir and Ahmed, 1979). Aktar (1994) reported slightly scattered distribution of parenchymatous cells and presence of moderately vacuolated hepatic cells caused by the 50% ethyl alcohol extract of dry root bark of Barringtonia acutangula.

Kidney

The kidney contained nephrons and interstitial lymphoid tissue. Nephrons consists of two parts, the Bowman's capsule and the renal tubules. Histopathological changes in the kidney pigment deposits occur in the tissues, tubules filled with deposits, Degeneration in the intertubular tissue found in different groups of *C. punctatus* and *O. niloticus* after feeding *L. leucocephala* leaf and seed. Konar (1975) noted degeneration of renal tubules in carp exposed to DDVP. Similar damage of the epithelial cells was observed by the author in Furadan and Padan treated fishes. Renal histopathology of fishes affected by cadmium, copper, zinc, salts of metals and other pollutants were recorded by a number of workers. Eisler *et. al.* (1972), Eisler and Garden, (1973), Akter (1994) reported degeneration of the epithelial cells

of the proximal tubules, slight necrosis of renal tubules and glomerule, focal areas of swollen epithelion cells with granular concentrated clear cytoplasm and the interstitial tissue between the tubules is packed with very few nuclear haematopoietic cells caused by the 50% ethyl alcohol extract of dry root bark of *B. acutangula*.

Testis

In matured fish the testicular lobules were filled up with spermatozoa and spermatids. Histopathological changes in testes, some spermatogonia, some spermocyte, some spermatid and some spermatozoa found in different groups of *C. punctatus* and *O. niloticus* after feeding *L. leucocephala* leaf and seed. Granuloma found in 30% and 35% seed group of *C. punctatus* (fig.129 and 130), (Plate-26) whereas Granuloma found in 35% seed group of *O. niloticus*. There found a decreasing trend of spermatid and spermatozoa with the increasing level of *L. leucocephala* leaf and seed food amount. On the other word there was an inverse relationship between the *L. leucocephala* leaf and seed level and spermaid and spermatozoa.

Ovary

The mature ovary contained a large number of tertiary oocytes. The secondary oocytes were developed into matured tertiary oocytes. Primary and secondary oocytes were present with a few oogonia. Histopathological changes in ovary, tertiary oocyte, a few secondary oocytes and a few primary oocytes and eggs were in absorptive condition were present in all groups of C. punctatus and O. niloticus after feeding L. leucocephala leaf and seed. The histopathological changes in ovaries of C punctatus and O. niloticus in this experiment at 25%, 30%, 35%, 40% L. leucocephala leaf and 20%, 25%, 30% and 35% L. leucocephala seed groups showed the decreasing trend of tertiary oocyte with the increasing level of seed. Santiago et. al. (1988) determined the effects of dietary Leucaena leaf meal on reproductive performance and growth of Nile tilapia. The experiment was conducted with sexually muture Nile tilapia fed with a test diet which had Leucaena leaf meal as the protein source for 24 weeks. Fish fed with the Leucaena diet lose some weight and had significantly low (p< 0.05) gonadosomatic index and fry production compared to those fed with the control diet. O. niloticus showed oocyte in yolk vesicle stage (in normal structure) beside many oocytes in ripe stage, also, clear histological lesions were detected in ovary as coagulation necrosis in yolk granules, separation of follicular layers, degeneration in oocyte (atresia) and focal area of necrosis in ovarian interstitial tissues where the Ovarian interstitial tissues were found to consist of interstitial cells, adipose cells, yolk granules and blood capillaries. Degenerative changes (atretic state) were observed in the ripe oocytes in ovary of *O. niloticus*.

SUMMARY

In Bangladesh Leucaena leucocephala (Lam. de Wit) tree mainly used as animal fodder, as are being used in other parts of the world. Leucaena has its origin in Central America and the plant has been introduced in Bangladesh in the late 60's. Leucaena seed is rich in protein and carbohydrate but low in fat. The dairy, poultry and culture fish have been supplied with the leaves for its high protein contents. The leaves of this tree are used as a component of the meal, or as the source of protein to animals.

L. leucocephala has been found to be a valuable forage and feed for our live stocks (Rahman and Dewan, 1988). Its leaf and seed meals are in wider use in many tropical countries including Bangladesh. Many reports have discussed its side effects in different domesticated animals and chicken. Rahman and Dewan, 1988 described pathological effects of Leucaena seed meal in the duck (Anas platythyncha domestica) in Bangladesh. Although some works have been done on the land animals including poultry birds and fishes regarding the L. leucocephala meal but a little work have so far been done with the fish.

Keeping the prospect of the uses of *L. leucocephala* in the aquaculture industry, the present research is taken to assess the effect of *L.leucocephala* on two species of culture fish, viz. *Channa punctatus* and *Oreochromis niloticus*.

Objectives of the presest study

- Investigating the chemical composition of the leaves and seeds of the
 L. leucocephala (Lam. de Wit).
- Evaluating the usages of leaves and seeds of L. leucocephala as fodder of fish.
- To work out the safety dose ranges on the species studied.
- Observing the behavioral and physical changes of *C.punctatus* (Bloch & Schneider) and *O. niloticus* (Linnaeus) fed different amount of *L. leucocephala* leaves and seeds.
- Observing changes in haematological parameters (TEC, TLC and differential count, hemoglobin, hematocrit, MCV, MCH and MCHC) caused due to feeding of *L. Leucephala* leaves and seeds.

- Changing in blood serum parameters i.e. total protein, globulin, albumin, glucose, urea, creatinine and cholesterol after feeding *L. leucocephala* leaves and seeds.
- Histopathological changes of the vital organs, i.e. tissues of eye, gill, muscle, stomach, intestine, liver, kidney and gonad of *C. punctatus* and *O. niloticus* after feeding *L. leucocephala* leaves and seeds.

The experimental fishes were *Channa punctatus* (Bloch &Schneider, 1801), family Channidae and *Oreochromis niloticus* (Linneaeus, 1758), family Cichlidae. Feed was prepared 2% of the total body weight of each group separately. Different amount of *L. leucocephala* leaf (25%, 30%, 35% and 40%) and seed (20%, 25%, 30% and 35%) were mixed with meshed small fish and flour. Hand dough of small balls were prepared to feed the experimental fishes. The experiment was continued for 60 days The experimental trial was replicated thrice for each amount of leaf and seed.

During the present study, blood was drawn from cardiac puncture. Haematological parameters: Erythrocyte (TEC), Leucocyte (TLC), Haemoglobin (Hb), Hematocrit (Hct), MCV, MCH and MCHC were determined by rolling the blood sample in an automatic Cell Counter Mythic (France). For the differential count of the TLC blood smears were made and stained following Klontz (1972), and counting was done with the help of a leucocytometer (Digital 9key. Erma Inc.). Biochemical parameters i.e. total protein, albumin, globulin, glucose, urea, creatinine and cholesterol were determined by analyzing the blood sample in an Automatic Analyzer, Dimension RXL Max DADE Behring Siemen (U.S.A.). Histopathological study: The histopathological slides were prepared at Bangabandhu Sheikh Mujib Madical University Pathology laboratory. Photomicrograph taken by camera Olympus CH30 at 10 X (10-40) and (4-5) X 10 magnification.

All data were presented as mean ± standard deviation. The haemamatological and biochemical parameters of blood were compared between each experimental group and control group by Pearson correlation coefficient and graphs were drawn. The means of haematological and biochemical variables were compared among the experimental food groups were showed by Analysis of variance (ANOVA) followed by Tukey Honest Significant Difference (HSD) Post hoc for multiple comparisons.

Statistical software SPSS version 20 was used to analyze the data. The level of significance was set at 0.05.

For the phyto-chemical investigation of $Leucaena\ leucocephala\$ plant parts leaf, seed extracts were chromatographed on silica gel 60G F₂₅₄ as a solid phase and different solvent system as mobile phase representing the active components of the alcoholic extract was determined qualitatively using various test reagents. The test results reviewed that the each and every parts of $Leucaena\ leucocephala\$ contains alkaloid, flavonoid, terpinoid, steroid, saponins. The alkaloid which is present in the different species of $Leucaena\ leucocephala\$ was characterized as mimosine and dihydroxy pyridine are toxic compounds which are regarded as anti-nutritional factors.

During the experiment, the behavioral, physical, haematological and histopathological changes were due to *L. leucocephala* leaf and seed food on *C. punctatus* and *O. niloticus* respectively in different amount for two months. The temperature of the water was 29° C \pm 1.5°C and pH value was found to be 7.25 \pm 0.45 during the experimental period.

The effects of *Leucaena leucocephala* leaf on *Channa punctatus* and *Oreochromis niloticus* were observed in different amount i.e. 25%, 30%, 35% and 40% of total food which was calculated 2% of the total body weight. In another case the effects of *L. leucocephala* seed food on *Channa punctatus* and *Oreochromis niloticus* were observed in different amount 20% 25%, 30%, and 35% of total food, which was also calculated 2% of the total body weight. In both cases the *L leucocephala* leaf and seed food was considered as behavioral, physical, haematological and histopathological changes observed in *C. punctatus* and *O. niloticus* in different amount. Total sixteen study groups were taken and four groups were kept as control. Ten fishes were kept for each group.

The effect on behavior of the fish *C. punctatus* due to *L. leucocephala* leaf food was loss of appetite and slow in movement. In each group this phenomena was exhibited in several fishes and was compared with the control group. The effect on behavior of the fish *O. niloticus* due to *L. leucocephala* leaf food was loss of appetite, loss of normal movement and erratic swimming. In each group this phenomena was exhibited in several fishes and was compared with the control group.

The effect on behavior of the fish *C. punctatus* due to *L. leucocephala* seed food was loss of appetite and loss of movement, excessive mucous secretion and accumulation on the skin and gills. The effect on behavior of the fish *O. niloticus* due to *L. leucocephala* seed food was erratic swimming, loss of normal movement and loss of appetite. In each group this phenomena was exhibited in several fishes and was compared with the control group.

The physical changes, which were observed after feeding different amount of 25%, 30%, 35% and 40% *L. leucocephala* leaf in four groups of *C. punctatus* were lesion on caudal region, erosion of fins, puffed and loose scales, lesions on skin and muscle and scoliosis, exophthalmus. The physical changes, which were observed after feeding different amount of 25%, 30%, 35% and 40% *L. leucocephala* leaf groups of *O. niloticus* were lesion on skin and erosion on caudal fin, exophthalmus, lesions on skin, puffed and loose scales, fading of body color and change in pigment. These changes were exhibited in each group of fishes.

The physical changes, which were observed after feeding different amount of 20%, 25%, 30% and 35% *L leucocephala* seed groups were lesions on skin, puffed and loose scales, lesions on caudal region, exophthalmus, scoliosis and abnormality in egg structure. The physical changes, which were observed after feeding different amount of 20%, 25%, 30% and 35% *L. leucocephala* seed groups were erosion of caudal fin, lesion on skin, puffed and loose scales, fading of body color and change in pigment, exophthalmus, curvature in preopercle bone. These changes were exhibited in each group of fish.

The effects of *L. leucocephala* leaf (25%, 30%, 35% and 40%) and *L. lucocephala* seed (20%, 25%, 30% and 35%) on the blood of *C. punctatus* and *O. niloticus* were observed. The morphological elements of the blood of *C. punctatus* and *O. niloticus* which were present in the blood *viz.* erythrocytes, lymphocytes, monocytes, thrombocytes, neutrophils, eosinophils and basophils were observed. There were no detectable changes or abnormalies found in the morphology of blood cells. But there were some remarkable changes found in the number of different cells.

In all the investigation the highest number of erythrocyte found in the control group whereas the number was gradually decreasing with the raising percentage of

Leucaena leucocephala leaf and seed group. In other observation the highest number of leucocyte found in the control group of both cases whereas the number was gradually decreasing with the raising percentage of *L. leucocephala* leaf and seed food group.

In present obsevation the highest number of leucocyte found in the control group of both cases whereas the number was gradually decreasing with the raising percentage of *L. leucocephala* leaf and seed food group.

In all the invastigation the highest number of lymphocyte found in the control group whereas the number was gradually decreasing with the elevating percentage of *L. leucocephala* leaf and seed food group.

In present observation the lowest percentage of monocyte found in the control group whereas the highest percentage was found in 30% *L. leucocephala* leaf group. The percentage of monocyte was gradually increasing with the raising percentage of *L. leucocephala* leaf food group 25%, 30%, whereas the percentage was gradually decreasing in 35% 40% group. The lowest percentage of monocyte found in the control group of *C.punctatus* whereas the percentage was gradually increasing with the raising percentage of *L. leucocephala* seed food. The highest percentage of monocyte found in the control group *O. niloticus* whereas the percentage was gradually decreasing with the raising percentage of *L. leucocephala* seed 20%, 25%, 30% except 35%.

In present observation the highest percentage of neutrophil found in the 25% *L. leucocephala* leaf group of *C. punctatus* whereas the percentage was gradually decreasing with the raising percentage of *L. leucocephala* leaf group. The lowest percentage of neutrophil found in the control group *O. niloticus* whereas the percentage was gradually increasing with the raising percentage of *L. leucocephala* leaf group 25%, 30%, 35% except 40. In present observation the lowest percentage of neutrophil found in the control group whereas the percentage was gradually increasing with the raising percentage of *L. leucocephala* seed. In present investigation the lowest percentage of neutrophil found in the control group of *O. niloticus* whereas the highest percentage found in 20% *L. leucocephala* seed group. The percentage of neutrophil was gradually decreasing with the elevating percentage of *L. leucocephala* seed food 25% and 30% except 35%.

In all the investigation the lowest number of eosinophil found in the control group whereas the number was gradually increasing with the elevating percentage of *L. leucocephala* leaf and seed group except 40% leaf group of *C. punctatus* and 35% seed group of *O. niloticus*.

In present observation the lowest percentage of basophil found in the control group of *C. punctatus* whereas the percentage was gradually increasing with the elevating percentage of *L. leucocephala* leaf group 25%, 30%, 40% except 35%. The highest percentage of basophil found in the control group of *O. niloticus* whereas the percentage was gradually decreasing with the raising percentage of *L. leucocephala* leaf group. In present investigation the highest percentage of basophil found in 30% of seed group of *C. punctatus* whereas the percentage was gradually decreasing with the elevating percentage of *L. leucocephala* seed group 20%, 25%, 35% except 30%. The lowest percentage of basophil found in the control group of *O. niloticus* whereas the percentage was gradually increasing with the raising percentage of *L. leucocephala* seed group.

In all the investigation the highest number of haemoglobin, hematocrit and MCHC found in the control group whereas the number was gradually decreasing with the elevating percentage of *L. leucocephala* leaf and seed group. In other case the lowest number of MCV and MCH found in the control group whereas the number was gradually increasing with the raising percentage of *L. leucocephala* leaf and seed group.

The effects of *L. leucocephala* leaf (25%, 30%, 35% and 40%) and *L. leucocephala* seed (20%, 25%, 30% and 35%) on biochemical parameters *viz.* total protein, albumin, globulin, glucose, urea, creatinine and cholesterol of *C. puctatus* and *O. niloticus* were observed. In all the investigations the lowest amount of total protein, albumin, globulin, glucose, urea, creatinine and cholesterol found in the control group whereas the number was gradually increasing with the raising percentage of *L. leucocephala* leaf and seed group.

The Correlation coefficient of different haematolocal parameters of *C. punctatus* compared with control group after feeding different amount of 25%, 30%, 35% and 40% *L. leucocephala* leaf. The haematological parameters i.e. length, weight, erythrocytes, thrombocytes, lymphocytes, monocytes, neutrophils, eosinophils and

basophils of *C. punctatus* and *O. niloticus* in 25%, 30%, 35% and 40% *L. leucocephala* leaf feeding groups were individually compared with control group. All the haematological parameters of 25% leaf group of *C. punctatus* was positively correlated with control group. Among the groups neutophil of 30%, monocyte and basophil of 35% and thrombocytes, lymphocytes, neutrophils, and basophils of 40% *L. leucocephala* leaf group showed the negative correlation with the control group. Eosinophil of all leaf groups, Basophil of 25% and 30% and Monocyte of 35% and 40% of *O. niloticus* negatively correlated with the control group.

The haematological parameters of *C. punctatus* and *O. niloticus* in 20%, 25%, 30%, and 35% *L. leucocephala* seed groups were individually compared with control group. All the haematological parameters of 20% and 30% seed groups of *C. punctatus* and 35% of *O. niloticus* was positively correlated with control group. Among the feeding groups monocyte of 25% and basophil of 35% of *C. punctatus* and lymphocyte and eosinophil of 30%, basophil of 20%, 25% and 30% of *O. niloticus* showed the negative correlation with the control group.

The other haematological parameters i.e. TEC, Hb, Hct, MCV, MCH and MCHC of *C. punctatus* and *O. niloticus* compared with control group after feeding different amount of 25%, 30%, 35% and 40% *L. leucocephala* leaf. Positive correlation was observed among all groups of *C. punctatus* compared with control group. Positive correlation showed between 35% leaf group of *O. niloticus* and control group whereas negative correlation showed MCH of 25%, 30% and 40% and MCV of 40% leaf groups of *O. niloticus* with the control group.

The other haematological parameters compared with control group after feeding different amount of 20%, 25%, 30%, and 35% *L. leucocephala* seed. A positive correlation was observed among all groups of *C. punctatus* compared with control group except MCHC of 35%. (Table-9) The MCV of 20%, 25% and 30% and MCH of 20% seed groups of *O. niloticus* were negatively correlated whereas 35% seed group was positively correlated with the control group.

The different biochemical parameters i.e. total protein, albumin, globulin, glucose, urea, creatinine and cholesterol of *C. punctatus* and *O.niloticus* compared with control group after feeding different amount of 25%, 30%, 35% and 40% *L.*

leucocephala leaf. A positive correlation was observed among all groups of *C. punctatus* and *O.niloticus* compared with control group.

The different biochemical of *Channa punctatus* and *O.niloticus* compared with control group after feeding different amount of 20%, 25%, 30% and 35% *L. leucocephala* seed group. Positive correlation was observed among all groups of *C. punctatus* and *O. niloticus* compared with control group.

The effects of *L. leucocephala* leaf and seed on different haematological, other haematological and biochemical parameters of *C. punctatus* and *O. niloticus* determined by analysis of variance. To determine the levels of significance among different percentage of *L. leucocephala* leaf and seed on *C. punctatus* and *Oreochromis niloticus*, Tukey HSD test was carried out for multiple comparisons. In case of *L. leucocephala* leaf, among the haematological parameters (length, weight, erythrocytes, thrombocytes, lymphocytes, monocytes, neutrophils, eosinophils and basophils) only lymphocyte and eosinophil were highly significant in *C. punctatus* whereas thrombocyte, lymphocyte, neotrophil and eosinophil were highly significant in *O. niloticus* at the 5% level of significance. In case of *L. leucocephala* seed only thrombocyte was significant in *C. punctatus* at 10% level of significance whereas weight and eosinophil were highly significant in *O. niloticus* at the 5% level of significance.

The effects of feeding different amount of *L. leucocephala* leaf and seed to the different other haematological parameters i.e. Hb Hct, MCV, MCH and MCHC of *C. punctatus* and *O. niloticus* were not statistically significant except weight of *O. niloticus* of seed group which was statistically significant.

In case of *L. leucocephala* leaf, among the biochemical parameters (total protein, albumin, globulin, glucose, urea, creatinine and cholesterol) only total protein, albumin, globulin were highly significant in *C. punctatus* whereas total protein and albumin were highly significant in *O. niloticus* at the 5% level of significance but others were not statistically significant. In case of *L. leucocephala* seed, albumin of *C. punctatus* whereas weight of *O. niloticus* were highly significant at the 5% level of significance and total protein of *C. punctatus* and glucose of *O. niloticus* were significant at the 10 % level of significance.

The effects of feeding different amount of *L.leucocephala* leaf and seed on the number of eggs of *C. punctatus* and *O. niloticus* were highly significant. Tukey HSD test was carried out for multiple comparisons of the different percentages of *L. leucocephala leaf* and seed on the number of *C. punctatus* and *O. niloticus*. In case of *C. punctatus* it was found that feeding 30%, 35% and 40% leaf whereas 35% and 40% seed were significantly different from the control. In case of *O. niloticus* feeding 25%, 30%, 35% and 40% leaf whereas 30%, 35% and 40% seed were significantly different from the control.

The histopathological changes due to the effect of *Leucaena leucocephala* leaf and seed on *Channa punctatus* and *Oreochromis niloticus* was observed. The histopathological changes specially observed on eye, gill, muscle, stomach, intestine, liver, kidney and gonad of the fishes. The experiment of feeding *L. leucocephala* leaf and seed was conducted during April 2008 to September 2012.

Histopathological changes in the eye perforation of sclera and gas bubbles in sclera, gas bubbles and haemorrhages in choroid were the common problems of the *C. punctatus* and *O. niloticus* observed in different groups of *L. leucocephala* leaf and seed groups.

In the experimental groups distorted gill cartilages in filaments ovserved in 25% and 30% *L leucocephala* leaf groups of *C. punctatus* and *O.niloticus*. Hypertrophy of epithelium on gill lamellae ovserved in 35% and 40% and edema at bases of lamellae in 40% *L. leucocephala* leaf food group of *C. punctatus* whereas curling of secondary lamellae, of gill lamellae in 35% and fusions of gill lamellae and swollen epithelium cells ovserved in 40% leaf group of *O. niloticus*. Distorted gill cartilages in filaments in 20% and 25%, hypertrophy of epithelium on gill lamellae found in 30% and 35% seed group of *C. punctatus* whereas distorted gill cartilages in filaments in 20%, curling of secondary lamellae in 25% and swollen epithelium cells in 30% and fusions of gill lamellae found in 35% *L. leucocephala* seed group of *O. niloticus*.

Histopathological changes in the muscle, fungal hypa, vacuolar degeneration in muscle bundles, splitting of muscle fibers, degeneration in muscle bundles, these problems were common to all groups of *C. punctatus* and *O. niloticus* after feeding *L. leucocephala* leaf and seed.

Histopathological changes in the stomach, granuloma in submucosal or mucosal layer found in all groups of *C. punctatus* and *O. niloticus* after feeding *L. leucocephala* leaf and seed.

Histopathological changes in the intestine, irregular shapes in mucosal folds, Less complex array of mucosal folds, complex array of mucosal folds, some degenerative changes in submucosal layer and Granuloma in muscularis layer found in different groups of *C. punctatus* and *O. niloticus* after feeding *L. leucocephala* leaf and seed.

Histopathological changes in the liver, vacuolation of parenchyma, hemorrhages, vacuolation and congestion found in different groups of *C. punctatus* and *O. niloticus* after feeding *L. leucocephala* leaf and seed.

Histopathological changes in the kidney pigment deposits occurred in the tissues, tubules filled with deposits, Degeneration in the intertubular tissue found in different groups of *C. punctatus* and *O. niloticus* after feeding *L. leucocephala* leaf and seed.

Histopathological changes in testis, some spermatogonia, some spermocyte, some spermatid and some spermatozoa found in different groups of *C. punctatus* and *O. niloticus* after feeding *L. leucocephala* leaf and seed. Granuloma found in 30% and 35% seed group of *C. punctatus* whereas Granuloma found in 35% seed group of *O. niloticus*. There found a decreasing trend of spermatid and spermatozoa with the increasing level of *L. leucocephala* leaf and seed amount. On the other word there was an inverse relationship between the *L. leucocephala* leaf and seed level and spermaid and spermatozoa.

Histopathological changes in ovary, tertiary oocyte, a few secondary oocytes and a few primary oocytes and eggs are in absorptive condition were present in all groups of *C. punctatus* and *O. niloticus* after feeding *L. leucocephala* leaf and seed. The histopathological changes in ovaries of *C punctatus* and *O. niloticus* in this experiment at 25%, 30%, 35%, 40% *L.leucocephala* leaf and 20%, 25%, 30% and 35% seed groups showed the decreasing trend of tertiary oocyte with the increasing of percentages of *L. leucocephala* seed level.

CONCLUSION

Fish species in culture system has high dietary protein requirement. Recently, the high cost and short supply of fish meal has made it necessary to substitute with cheaper plant protein sources. Effects of Leucaena leucocephala (Lam. de Wit) leaf and seed on Channa punctatus (Bloch and Schneider) and Oreochromis niloticus (Linnaeus) were observed in respect of behavior, physical, haematological and histopathological changes. In present investigation in behavioral changes, loss of appetite and loss of movement were found in both species. The physical changes that found in C. punctatus due to L. leucocephala leaf and seed were as same as O. niloticus, except scoliosis. In haematological changes, the number of TEC, TLC, haemoglobin, hematocrit and MCHC had the decreasing trend with the increasing amount of L. leucocephala leaf and seed whereas the increasing trend found in the case of MCV and MCH observed in both species. The biochemical parameters of all groups of *C. punctatus* and *O. niloticus* showed positive correlation with the control group. The histopathological changes found in tissues i.e. eye, gill, muscle, stomach, intestine, liver, kidney and gonad of the fishes. In the present study the effects were observed specially at higher percentages of the L. leucocephala leaf and seed groups. But at the lower dose minimum effects were observed in C. punctatus and O. niloticus maintaining their normal growth pattern. The effects of feeding different amount of L. leucocephala leaf and seed on the number of eggs of C. punctatus and O. niloticus were highly significant at the 5% level of significance. The present study shows that the low amount of 25% to 30% of Leucaena Leucocephala leaf and 20% to 25% of seed can be used as meal in fish feed. It needs to be removed the harmful components from the leaves and seeds of L. leucocephala, if higher level of supplementation given in feed. If the harmful components from the leaves and seeds of L. Leucocephala can be removed then L. Leucocephala will be a very useful source of protein and fish feed in future.

REFERENCES

Adamu K .M., Kori-SiakpereO. 2011: Effects of sublethal concentrations of tobacco (*Nicotiana tobaccum*) leaf dust on some biochemical parameters of Hybrid catfish (*Clarias gariepinus* and *Heterobranchus bidorsalis*). Brazilian Archives of Biology and Technology, *Print version* ISSN 1516-8913. Braz. arch. biol. technol. vol.54 no.1 Curitiba Jan./Feb. 2011

Adeneye JA. 1991: Mimosine content in various fractions of *Leucaena leucocephala* grown in western Nigeria. Anim Feed Sci Technol. 33: 349-53.

Agrawal A, Jain R. Pitre KS, Garg C. 1988 : Polarographic analysis of the fatty acids from *Leucaena leucocephala*. Seifen, Oele, Fette, Wachse. 114 : 801-2.

Ahmed M, Chaudhary FM, Ahmad M. 1988: Studies on the fixed oil of the seeds of *Leucaena leucocephala*. Part 1. Pak J Sci. Ind. Res. 31: 428-9.

Ahmed, S.M. 1975: Effect of three organophosphorus insecticides to fish koi (*Anabas testudineus* Bloch). M.Sc. Thesis, Department of Zoology, University of Dhaka. 1-50 p.

Ahsan, M.F. 1989: Studies on the piscicidal property of *M. Ferrea* (Linn.) M.Sc. Thesis, Dept. of Zoology, University of Dhaka. 92. p.

Akbar MA, Gupta PC. 1985: Proximate composition and tannin and mineral contents of various plant parts of subabul (*Leucaena leucocephala*). Indian J. Anim Sci. 55: 808-12.

Akbar MA, Gupta PC. 1984 : Mimosine in subabul (*Leucaena leucocephala*). Indian J. Dairy Sci. 37 : 287-9.

Aktar, S. 1994: Piscicidal activity of *Barringtonia acutangula* (Fam. Laycytheaceae) on *Heteropneustes fossilis* and *Channa punctatus*: M.Sc. Thesis, Dept. of Zool. University of Dhaka. 1-154 pp.

Alikunhi, K.H. 1957 : Fish culture technique in India Bull. India Agriculture Research. 20 : 144 p.

Ameen, M.A., A.K.A. Chowdhury, H.R. Khan and M. Shahjahan.1983: Insecticidal properties of *D. elliptica* (wall) roots against the larva of culexfatigans (Diptera :culcidaee). Dhaka University stud. 8 . 31 (1) : 1-11 p.

Ammen, M.A.M. Shahjahan. 1987: Lethal effect of *Derris elliptica* (Benth) root on the catfish, *Heteropneustes fossilis*, (Bloch). Bangladesh. J. Agriculture 12 (1): 19-26.

Anderson DMW, Douglas DMB. 1988: The composition of the proteinaceous gums exuded by some *Leucaena* species, subspecies and hybrids. Bull Jpn. Soc. Sci. Fish (Nihon Suisan Gakkai-shil). 2: 247-53.

Anderson DMW, Howlett JF, McNab CGA. 1986: The hydroxyproline content of gum exudates from several plant genera. Phytochemistry. 26: 309-11.

Annees, M.A. 1976: Intestinal pathology of fresh water teleosts, *Channa punctatus* (Bloch) exposed to sub-lethal and choronic levels of three organophosphorus insecticides. Acts. physiol, lat. Am. 26 (1).

Ara, S. 1982: Study on the piscicidal property of indigenous *D. elliptica* (wall) (Leguminosae :papilionaceae). M.Sc. Thesis, Dhaka University 1-118 p.

Arora SK, Joshi UN. 1985: Carbobydrate make up of green, fully ripened pods and seeds of *Leucaena leucocephala*. Starch/Staerke. 37: 109-11.

Atif M. El-Naggar, Soaad A. Mahmoud and Safaa I. Tayel, 2009: Bioaccumulation of Some Heavy Metals and Histopathological Alterations in Liver of *Oreochromis niloticus*in Relation to Water Quality at Different Localities along the River Nile, Egypt. World Journal of Fish and Marine Sciences 1 (2): 105-114, 2009. ISSN 1992-0083.

Augusthy, K.T. 1979: Fish Farming in Nepal. Institute Agriculture and Animal Science (IAAS), Tribhuban University, Chitwan, Nepal, p. 90.

Azeemoddin G. Jagan Mohan Rao S. ThirumalaRao SD. 1988: Amino acid composition of subabul (*Leucaena leucocephala*) seed kernel proteins. J Food Sci. Technol. 25: 158.

Baker, J.T.P. 1969 : Histopathological and electron microsepical observation on copper poisoning in the winter flounder *(Pseudopleuronectes americans)*. J. Fish. Res. Board-can. 26 : 2785-2793 pp.

Begum. A. 1986 : Study of the piscicidal property of the indigenous *E. neriifolia* (Fam. Euphorbiaceae). M. Sc.Thesis, Dept. Zoology, University of Dhaka. 150 p.

Besse, P., de Kinkelin, P., and Levaditi, J.C. 1968: La Nephrocalcinose de la truite arc-en-ciel (Salmoirides, Gibbons, 1855). Bull. Off. int. Epizoot. 69: 1391.

Beveridge RJ, Ford CW, Richards GN.1977: Polysaccharides of tropical pasture herbage. VII. Identification of a new pinitolgalactoside from seeds of *Trifoliumsubterraneum* (subterranean clover) and analysis of several pasture legume seeds for cyclohexitols and their galactosides. Aust J Chem. 30: 1583-90.

Bhuiyan A. S., 2001, Nesa B, NessaQ, 2001: Effects of Sumithion on the Histological Changes of Spotted Murrel, *Channa punctatus*(Bloch). Pakistan Journal of Biological Sciences 4 (10): 1288-1290, 2001

Biswas, R. 1982 : Study on the piscicide property of the indigenous *Derris scandens* (Fam. Papilionaceae). M. Sc.Thesis, Department of Zoology. University of Dhaka. 1-119 p.

Bittencourt N.de L. R., Molinari L. M., Scoaris D.de O., Pedroso R. B., Nakamura C.V., Ueda-Nakamura T., Alves de Abreu B., Filho and Filho B. P. D. 2003: Haematological and biochemical values for Nile tilapia *Oreochromis niloticus* cultured in semi-intensive system. Acta Scientiarum. Biological Sciences Maringá, v. 25, no. 2, p. 385-389, 2003

Blaxhall,-P.C. 1972: The haematological assessment of the health of freshwater fish. A review of selected literature. J. FISH-BIOL. Bol. 4. pp. 5393-604.

Blaxhall, -P.C. & Daisley, -K.E. 1973 : Routine haematological methods for use with fish blood. J. FISH-BIOL. Vol. 5, pp. 77-781.

Bonn. W. Leon, R. 1961: Some effect of rotenone products on municipal water supplies. Trans. Amer. Fis. Soc. 90(s): 287-297 p.

Buckeidge MS, Dietrich SMC, Maluf AM. 1987 : Galactomannan in seeds of different populations of *Leucaena* leucocephala. Rev BrasilBot.10 : 25-7.

Buckinghum, D. E. 1930 : The action of rotenone upon mammals when taken by month preliminary report . J. ind. Eng. chem. 22 (10): 11-33 p.

Caceci T., El-Habback H. A., Smith S. A. and Smith B. J 2005: The stomach of *Oreochromis niloticus* has three regions.first published online: 4 APR 2005 DOI: 10.1111/j.1095-8649.1997.tb01620.x Issue.

Caron, R. 1963: The silent spring. Honghton Mifflin Co. Boston. 368 p.

Cesar C. Alceste, 2000 : Tilapia – Alternative Protein Sources in Tilapia Feed Formulation. Aquaculture Magazine Jul/Aug 2000. Vol. 26. No. 4.

Chandrasekhara Rao T. Lakshminarayana G. Prasad NBL, Sagan Mohan Rao S. Azeemoddin G. AtchyntaRamayya D, Thirumala Rao SD. 1984: Characteristics and compositions of Carissa spinarum, *Leucaena leucocephala* and *Physalis minima* seeds and oils. J Am Oil Chem Soc. 61: 1472-3.

Choudhri, H. 1960 : Contributions to the techniques of pond fish culture in India . D. Phill. Thesis, University of Calcutta, Calcutta.

Choudhary, S.M. 1969 : Introduction to statistical theory. Part 11. Pance Nad industries and Press. Lahore, Pakistan 198-258 p.

Chopra, R.N., I.C. Chopra, Handa, and L.D. Kapur, 1958: Chopras indigenous Drugs of India. U.N. Dhur and sons private Ltd., Calcutta 12, 584 p.

Chowdbury AR, Banerji R. Misra G. Nigam SK. 1984: Studies on leguminous seeds. J Am Oil Chem Soc. 61:1023-4.

Chowdhury, A.K.A., G.A. Latifa. S.Ara and R. Raisuddin, 1981: Potentiality of indigenous *Derris* Roots in clearing predatory and weed fishes from nursery ponds. Dhaka University study. Pt. B, 29: 47-53 p.

Chowdhury, A.N. in 1999 (in her P.hd. thesis): The haematological and haemochemical parameters of *Clarias batrachus* and *Channa punctatus* in natural and cultured conditions and observed various relationship between those parameters with fluctuating physicochemical variables in cultured condition.

Day, M.S. 1978: The fisheries of India, A natural history of the Fishes of India, Burma and Ceylon. William Dawson and Sons. London. 1:639 and 642.

Davis, C.H. Bhuiyan, A.R., Ameen M. 1983 : Fish production in managed farmer's ponds with different feeding and stocking regimes. Proc. 4th Seminar: Maximum Livestock Production from minimum land. 111-129 pp. Bangladesh Agricultural University, Mymensingh.

De. D.K. and N.C. Datta, 1990: Studies on certain aspects of the morpho-histology of Indian shad Hilsa, *Tenualosa ilisha* (Hamilton) in relation to food and feeding habits, India J. Fish., 37 (3) 189-198 p.

Dhar, N N 1986: Study on the fish toxicant property of the indigenous *Barringtonia acutangula* (Lacytheaceae). M.Sc. Thesis, Dhaka University, 133 p.

D'Mello JPF, Thomas D.1977 : Animal feed. In: Rushkin FR, ed. *Leucaena*: promising forage and tree crops for the tropics. Washington, DC: National Academy of Sciences. : 30-2.

Dunbar, C.E., and Herman, R.L. 1971: Visceral granuloma in brook trout

(Salvelinus fontinalis). J. Nutr. 101: 1445.

Eisler, R, Gardner, G. R. Hennery, R. J., Laroche, G. Walsh, D.F. Yevich, P.P. 1972: Acute toxity of nitrilotriacetic acid (NTA) and NTA containing detergents to marine organisms. Water. Res. 1009-1027.

EI-Harith EA, Mohme H, TerMeulen U, Bartha M, Gunther KD. 1981: Effects of mimosine on some serum enzyme activities and amino acid metabolism in the rat. Tierphysiol Tierernahrg Futtermittelkde 46: 25563.

Eller, L.L. 1971: Histopathologial changes in liver, gill, brain, pancreas and gonads after chronically exposing Salmoclarki to Endrin by bath or in food. Amer. J. pathol. 64: 321-336 p.

EISLER, R.E. GARDNER, G.R. 1973: Acute toxicity to an estuarine teleost of mixture of cadium, copper and Zinc salt, J. Fish Biol. 5: 131-142.

ESB, Economic survey of Bangladesh. 1992-93 : Ministry of Finance, Govt, of Peoples Republic of Bangladesh June 1993.

Fange, R. 1994 : Blood cells, haemopoisis and lymphomyeloid tissues in fish. FISH AND SHELISISH IMMUNOLOGY. Vol. 4, pp. 405-411.

Fatma A.S. Mohamed, **2009**: Histopathological Studies on *Tilapia zillii* and *Solea vulgaris* from Lake Qarun, Egypt. World Journal of Fish and Marine Sciences 1 (1): 29-39, 2009, ISSN 1992-0083; © IDOSI Publications, 2009

Felker P. Bandurski RS. 1977 : Protein and amino acid come position of tree legume seeds. J Sci Food Agric. 28 : 791-7.

Feng Y-H. 1980: Analysis of the galactomannan gums in 24 seeds of Leguminosae. Chih Wu Hsueh Pao. 22: 302-4.

Fisher, R.A. and F. Yates. 1963 : Statistical Tables for, Biological, Agricultural and Medicinal Research, 6th ed. Oliver and Boyd. Ltd., Edinburg. 47 pp.

Ford CW. 1979 : Simultaneous quantitative determination of sucrose, raffinose and stachyose by invertase hydrolysis and gas-liquid chromatography. J Sci Food Agric. 30 : 853-8.

Gardner, G. R. and G. Laroche 1973 : Copper induced lisions in estuarine teleosts. J. Fish. Res. Board Can. 30 : 363-368.

Gautam, R. K.,Kumar S., 2008: Remove from marked Records Alteration in haematology of *Channa punctatus* (Bloch). Journal of Experimental Zoology, India 2008 Vol. 11 No. 2 pp. 309-310

Ghittino, **P. 1965**: Viral hemorrhagic septicemia (VHS) in rainbow trout in Italy. Ann. N.Y. Acad. Sci. 126: 468-478.

Ghittino, P. 1967: Eziologia e lesioni anatomopathologiche della malattiabranchiale (MB) dellatroteline in Italia. Riv. ital. piscic. ittiopat. 2 (2): 24-29.

Ghosh, A. and S.K. Konar 1975 : Effects of phosphamidon on the activity of the digestive enzyme invertase in the cat fish *Clariasbatrachus* (Linn). Joun. Inland fish Soc. India. 5 : 129-130 p.

Ghosh R, Chakrabarty M, HomechaudhuriS, 1997: Analysis of haemopoietic cells, blood variables and histopathological changes in *Channa punctatus* (Bloch) following experimental inoculation of two strains of aeromonads. Journal of Fish Biology, Volume 50, Issue 5, pages 939–952, May 1997

Goel, K.A.; Mishra, B.P; Gupta, K & Wadhraw, S. 1984: A comparative hematological study on few freshwater teleosts. INDIAN-J.FISH. Vol. 13. No.1, pp.108-112.

Goldstein, A. 1964: Bio-statistics, An introductory Text Momillan, Co., New York, U.S.A. 172-178 pp.

Goulden, C.H. 1952 : Probit analysis. Method of statistical analysis, 2ndFd: chapman & Hall Ltd. 394-417 pp.

GuerereM, **Mondon JM**, **Pajaniaye A. 1984**: Physicochemical composition of seeds from several plants from the Isle of Reunion. Ann Falsif Expert ChilToxicol. 77: 523-9.

Gupta A. K. and Kumar A., 2006 : Histopathological lesions in the selected tissues of *Cirrhinus mrigala* (Ham.) fingerlings exposed to a sublethal concentration of mercury. Journal of Environmental Biology April 2006, 27(2) 235-239 (2006)

Gupta, S.R. 1957 : Carp Larval and their predators in the River Padma at Rajshahi, Bengal, Tour. Asiat. Soc. Bang. 13 (2:69-74 p.

Gupta, M.L. R.K. Purohit, N. Rathore, M. Srivastava, P. Ahlawala 1992: Radiation induced histological and biochemical changes in the liver of Indian cat fish, (*Heteropneustes fossilis* Bloch). Bangladesh J. Zool. 20(1): 143-149 p.

Halver, **J.E.**, **and Shanks**, **W.E. 1960**: The nutrition of salmonid fishes. VIII. Indispenable amino acids for sockeye salmon. J. Nutr. 72: 340-349.

Halver, J.E., DeLong, D.C., and Mertz, E.T. 1957: The nutrition of salmonid fishes . V. Classification of essential amino acids for Chinook salmon. J. Nutr. 63: 95-105.

Halver, J.E., Ashley, L.M., and Smith, R.R. 1969: Ascorbic acid requirements of cohosalmon and rainbow trout. Trans. Amer. Fish. Soc. 98: 762-771.

Harborne J.B. 1988 : Phytochemical methods (a guide to modern techniques to plant analysis). 3rd ed. Chapman and Hall: London.

Henderson, C. and Q.H. Pickering. 1958 : Toxicity of organic phosphorus insecticides to fish. Trana Amer. Fish Soc. 87: 39-51 p.

Herissey H, Mascre M. 1941 : Presence of stachyose (mannotetrose) in the seed of *Leucaena glauca* Benth (Mimoseae). J Pharm Chem. 9 : 521-3.

Hilal SH, Saber AH, Haggag MY, El-Zalabani SM. Ahmed FIF. 1991 : Protein, common amino acids and mimosine contents of *Leucaena glauca* Benth cultivated in Egypt. Egypt J Pharm Sci. 32: 91101.

Hongo F. Kawashima Y. Tawata S.Sunagawa K, Moromizato S. 1987: Studies on chemical composition and mimosine content of *Leucaena leucocephala* de Wit. Ryukyu Daigaku Nogakubu Gokujutsu Hokoku. 34: 5 1 -7.

Hossain MA, Alam M, Huq MS. 1988 : Studies on the composition of ipil-ipil (*Leucaena leucocephala*) seed oil. Dhaka Univ. Stud., Part B. 36: 163-9.

Hylin JW, **Sawai K**. **1964**: The enzymatic hydrolysis of *Leucaena glauca* galactomannan. J Biol Chem.239: 990-2.

Israel, H.L., and Sones, M. 1961: Sarcoidosis. Advan. Tuberc. Res. 11: 214.

Jagan Mohan Rao S. Azeemoddin G. 1988 : Recovery of lecithin and refining of subabul (*Leucaena leucocephala*) seed oil. J Oil Technol Assoc India. 20: 12.16-7.

Jagtap A.R. Kadam, M. S. Mali R. P. 2011: Haematological studies of fresh water fish, *Channa punctatus* exposed to copper sulphate from Godavari river, Nanded (M.S.).

Jhingran, V.G. 1977: Fish and Fisheies of India. Hindustan Publishing corp, India, Delhi, 11007. 369-372 p.

Jones Q. Earle FR. 1966 : Chemical analysis of seeds. II. Oil and protein content of 759 species. Econ Bot. 20 : 127-55.

Jones RJ, Winter WH. 1979-80: Tropical crops and pastures. CSIRO Divisional Report. Melbourne, Australia: CSIRO.

Joshi, **P. C.** (1989): Seasonal changes in the blood parameters of a hill stream teleost, *Channa gachua*. COM.PHYSIOL.ECOL. Vol. 14, No.2, pp.29.

Kafuku K, Hata C. 1934 : Seed oils of Formosan plants. IX. Constituents of various seed oils of Leguminosae. J Chem Soc Jpn.55: 369-75.

Kakkar P. H. Saxena R. M. Rathee N. S, and Joshi M, 2011: Water Soluble Fraction of Diesel Fuel Induced Histopathological Alterations in the Liver of *Channa punctatus*. Toxicol Int. 2011 Jan-Jun; 18(1): 14–16. doi: 10.4103/0971-6580.75846

Kale AU. 1987 : Nutritive value of *Leucaena leucocephala* (subabul). Doctoral thesis, University of Bombay.

Kamel M, Ragheb A, Haggag K, Abd El-Thalout 1. 1992: Isolation, chemical modification, and rheological characterization. Starch/Staerke. 44: 374-8.

Karim, M.A. 1975 : An introduction to fish culture in Bangladesh, 1stedi. 1975. Khurshed Ahmed Khan, Zaman printers, Mymensingh, Bangladesh. 122-128 p.

Kabir, S.M. and N. Ahmed, 1979 : Histopathological changes in Climbing perch, A. testudineus due to three granular insecticides. Bangl. J. Zool. 7(1). 21-29 pp.

Kabir, S.M.H. and R. Begum 1978 : Toxicity of three organophosphorus insecticides to *H. fossilis*. Dhaka University. B. 26(1): 115-122 pp.

Kent, J.A., 1968 : Riegel's Industrial chemistry, Reinhold book corporation. N.Y. 1002, U.S.A. 746 and 963 pp.

Kiser, R.W., J.R. Donaldson, P.R. Olson, 1963: The effect of rotenone in zooplankton populations in freshwater lakes, Trans, Amer. Fish. Soc. 92(1): 17-24 pp.

Khalid S. Shahid G. Afza N. Hussain SS, Badar Y. Sattar A, Khan SA. 1989: The fatty acids of indigenous resources for possible industrial applications. Part XVIII. The fatty acid composition of the fixed oils of *Leucaena leucocephala* and *Cassia holosericea*.. Pak J SciInd Res. 32: 643-5.

Khalil, M.I. 1984: Study on the piscicidal property of the indigenous *Sapiumindicum* fruits (Fam. Euphorbiaceae) M.Sc. Thesis. Dept. of Zool. University of Dhaka 1-132 pp.

Khanna, S.S. 1978: An introduction to fishes. 2ndedi. Central Book Depot, Allahabad, India, P. 416-418.

Kitamura, S. 1969: Summary on the hypovitaminosisa C of rainbow trout, *Salmogairdneri*. Fish Pathol. (Japan) 3: 73-92.

Kirtikar K.R. and Basu B.D. 1975 : Indian Medicinal Plants. Vol. 2. Publ. by Lalit Mohan Basu M.B. 902-947.

Kluge, J.P. 1965: A granulomatous disease of fish produced by flavobacteria. Pathol. Vet. 2: 545-552.

Konar S.K. 1969 : Histo-Pathological effects of the insecticides heptachlor and Nicotine, on the gills of the cat fish H. fossilis Jap Jour. Ichthyol., (15): 156-159 pp.

Konar, S.K. 1975: Pesticides and aquatic ecosystems, Ind. Jou. Fish 22: 80-85.

Kulkarni AS, Khotpal RR, Lokhande AR, Bhakare HA. 1992: Glycolipid composition of subabul, ritha and kusum seed oils of Vidarbha region. J Food Sci Technol.29: 179-81.

Lohia S. and Srivastav, A. K. 2000: Variation in some haematological values of *Channa punctatus* (Bloch.) Flora and Fauna (Jhansi) 2000 Vol. 6 No. 1 pp. 13-15

Latifa, G.A., M. Shafi, S.I. Parvin and M.J. Alam 1988: Piscicidal property of dry root of *Tephrosia purpurea* (Pers) on *Heteropneustes fossilis* (Bloch) and *Channa punctatus* (Bloch). J. Asiat. Soc. Bangladesh (Sci.) 14 (1): 49-55.

Latifa, G.A., M. Shafi and S.I. Parvin 1987: Study on the piscicidal property of the fresh root of *Tephrosia purpurea* (Pers) on fish, *Heteropnenstes fossilis* (Bloch) and *Channa punctatus* (Bloch). Dhaka University. Study part E. 2 (1): 13-21 pp.

Latifa, G.A., M.F. Ahsan and S.D. Sarker 1992: Piscicidal property of the fresh seeds of *Mesua ferrea* (linn) on *H. fossilis* (Bloch) J. Asiat. Soc. Bangladesh. Sci. 18 (1): 73-77 pp.

Laurence, **J.A. 1979**: Response of Malze and wheat to sulphur dioxide. plant disease Reptr. 63 (6): 468-471, pp.

Lawerence, **J.E. 1950**: Toxicity of some insecticidaal to several species of pond fish prog. Fish. Cult.12 (3): 141-146 pp.

Leonard. J.W. 1939 : Notes on the use of *Derris* as a fish poison. Am. Fish. Soc. Trans. 68: 269-279. pp.

Lied. E; Gjerd,e, J, & Brachen-O. R. 1975: Simple and rapid technique for repeated blood sampling in rainbow trout. (*Sa/mo gairderi*). J. FISH.RES.BD.CAN. Vol. 32, pp. 699-701.

Lin K-C, **Lin J-H**, **Tung T-C**. **1964**: Effect of amino acids on the growth inhibition of rats caused by mimosine. J Formos Med Assoc. 63: 278-84.

Lin JK, Ling TA, Tung TC. 1965: Biochemical study of mimosine. 11. Comparative study on the interaction of mimosine and other amino acids with pyridoxal 5-phosphate in vitro. J Formos Med Assoc.64: 26572.

Lovell. R.T. 1979: Fish culture in the United States. Science 206: 1368-1372.

Lovell. R.T., E.W. Shell. and R.O. Smitherman. 1978: Progress and prospects in fish farming. 262-290. New York: Academic Press. Inc.

Lovell. R.T. 1984 : Use of soybean products in diets for aquaculture species. Res. Highlight. Amer. Soybean Assoc. February.

Lovell. R.T., T. Miyazaki. and S. Rebegnator. 1984: Requirement of alphatocopherol by channel catfish fed diets low in polyunsaturated fatty acids. J. Nutr. 114: 894-901.

Lovell. R.T. 1988 : The nutrients. In: Fish Nutrition and Feeding, R.T. Lovell. ed. Van Nostrand Reinhold Co., New York.

Mahajan, C.L & Dheer, J.S 1979a : Cell types in the perepheral blood of and air breathing fish *Channa punctatus.* J. FISH-BIOL. Vol. 14, pp. 481-487.

Majumder SHMH, Chowdbury MH. 1987: Studies on the physicochemical properties of *Leucaena leucocephala* (ipil-ipil) seed oil and analysis of its seed cake. Chittagong Univ Stud, Part 2,11: 93-9.

Marimuthu K. and Haniffa M.A., 2006: Studies on Fecundity of Captive Reared Spotted Snake head *Channa punctatus* (Channidae). Journal of Fisheries and Aquatic Science, 1: 291-296. DOI:10.3923/jfas.2006.291.296;

Marking, L.L.; Bills, T.D. 1976: Toxicity of rotenone to fish in standardized Laboratatory tests. Investigation in Fish Control. U.S. Fish and Wildlife Service. 7: 1-11.

Mathur, D.S. 1962 : Studies on the histopathological changes induced by DDT in the liver, Kidney and intestine of certain fishes. Experientia. 19 : 506-109 pp.

Matton, P. and D.N. Laham,1969 : Effects of the organophosphate Dylox on rainbow trout larvae, J. Fish. Res. Board Can.26 : 2193-2200 pp.

Mayar, S.L. 1955: Vegetable insecticides, proc. Gymp. Indigenous drugs and insecticides. Bull. Mal. Inst. India, 4: 137-45. pp.

McCleary BV. 1979: Enzymic hydrolysis, fine structure and gelling interaction of legume-seed D-galacto-D-mannans. Carbohydr Res. 71: 205-30.

MeCarthy, D. H.; Stevenson, J.P & Roberts. M. S. 1973 : Some blood paraeters of the rainbow trout 1. The Kamloops variety. J. FISH-BIOL. Vol. 5. pp. 1-8.

MeCarthy, D. H.; Stevenson, J. P. & Roberts, M.S 1975: Some Blood parameters of the rainbow trout (*Salmo gairdneri*) Richardsn. II, The shasta variety. J. FISH-BIOL. Vol. 7, pp. 215-219.

Millemann, R.E., and Knapp, S.E. 1970: Pathogenicity of the "salmon poisoning" trematode *Nanophyetus salmincola* to fish, pp. 209-217. In A Symposium on Diseases of Fishes and Shellfishes, ed. S.F. Snieszko. Amer. Fish. Soc., Spec. Publ. No. 5. Washington D.C.

Miralles J. 1982: Study on unsaponifiable fraction of *Albizzia lebbeck* Benth and *Leucaena glauca* Benth oils. Rev Fr Corps Gras. 29: 79-80.

Mishra A K and Mohanty B, 2008 : Histopathological Effects of Hexavalent Chromium in the Ovary of a Fresh Water Fish, *Channa punctatus* (Bloch). Bull Environ ContamToxicol (2008) 80:507–511;Published online: 6 April, _ Springer Science + Business Media, LLC 2008

Mitsuhashi T. Ohtsubo M, Endo S. 1972 : Seed oils from two species of Leguminosae. Tokyo Gakugei Daigaku Kiyo, Dai-4-Bu. 24 : 125-9.

Mohanta M.K., Salam, M.A, Saha A.K., Hasan A. and Roy A.K. 2010: Effects of Tannery Effluents on Survival and Histopathological Changes in Different Organs of *Channa punctatus*. ASIAN J. EXP. BIOL. SCI. VOI 1 (2) 2010: 294 - 302

Molyneux, F. 1972 : *Derris*, a natural pesticide. Aust. Chem. Process Eng. 25 (11): 9-12.

Morimoto JY, Unrau ICJ, Unrau AM. 1962: Chemical and physical properties and the enzymatic degradation of some tropical plant gums. J Agric Food Chem. 10: 1347.

Morrison C. M. and Wright J. R. 2005: A study of the histology of the digestive tract of the Nile tilapia, Article first published online: 1 APR 2005; DOI: 10.1111/j.1095-8649.1999.tb00638.x Issue; Journal of Fish Biology, Volume 54, Issue 3, pages 597–606, March 1999.

Mount, D.I. and G.J. Putnicki. 1966 : Summary of the 1963 Mississippi fish hill. Trans. 31st North Am. Wildlife and Nat. Resource Conf. Washingtion. pp. 177-184.

Munro, **I.S.R. 1955**: The marine and freshwater fishes of Ceylon. Published for Department of External Affairs Canbera: 48.

Öner M., Atli G., M. Canli M., 2008: Changes in serum biochemical parameters of freshwater fish *Oreochromis niloticus* following prolonged metal (Ag, Cd, Cr, Cu, Zn) exposures. Environmental Toxicology and Chemistry, Volume 27, Issue 2, pages 360–366, February 2008.

Osman M.F., Omar A. Eglal and Noor A.M. 1996: The use of *Leucaena* leaf meal in feeding Nile tilapia. Aquaculture international. 9-18.

Osman A. H. K and .CaceciT.,1991 : Histology of the stomach of *Tilapia nilotica* (Linnaeus, 1758) from the River Nile. Journal of Fish Biology, Volume 38, Issue 2, pages 211–223, February 1991. Article first published online: 24 JAN 2006 DOI: 10.1111/j.1095-8649.1991.tb03107.x Issue

Padilla SP, Soliven FA. 1933 : Chemical analysis for possible sources of forty-five species of oil-bearing seeds. Philipp Agric. 22 : 408-15.

Padmavathy P. Shobha S. 1987: Effect of processing on protein quality and mimosine content of subabul (*Leucaena leucocephala*). J Food Sci Technol. 24: 180-2.

Pantastico, **J.B.** and **J.P.** Baldia. 1979: Supplement feeding of *Tilapia mossambica*. In Finfish Nutrition and Fishfeed Technology. J.E. Halver and

K. Tiews (Editors). Heenemann, Berlin, 1: 587-593.

Pantastico, **J.B. and J.P. Baldia. 1980**: Ipil-Ipil leaf meal as supplement for *Tilapia nilotica* in cages. Fish. Res. J. Philipp., 5 (2): 63-68.

Pascual, F.P. and V. Penaflorida. 1979: The extraction of mimosine from ipil-ipil (*Leucaena leucocephala*) by soaking in water. Aquaculture Department, SEAFDEC Q. Res. 3 (3): 4-6.

Patel MV, Raval DK, Patel RG, Patel VS. 1990: Modification and characterization of *Leucaena glauca* seed gum by graft copolymerization with acrylonitrile. Starch/ Staerke. 42: 226-9.

Pathan T.S., Shinde S.E., Thete P.B. and Sonawane D.L., 2010: Histopathology of Liver and Kidney of *Rasbora daniconius* Exposed to Paper Mill Effluent. Research journal of Biological Sciences, Year: 2010, Volume: 5, Issue: 5, Page No.: 349-394. DOI: 10.3923/ribsci.2010.389.394

Parvin, S.I. 1986: Study on the piscicidal property of the Indigenous *Tephrosia purpurea* (Pers). On *Heteropreustes fossilis* & *Channa punctatus*. M.Sc. Thesis. Det. of Zool. Univ. of Dhaka. 1-154 pp.

Peebua P., Kruatrachue M., Pokethitiyook P. and Kosiyachinda P., 2006: Histological Effects of Contaminated Sediments in Mae Klong River Tributaries, Thailand, on Nile tilapia, Oreochromis niloticus. Science Asia32 (2006): 143-150;doi: 10.2306/scienceasia1513-1874.2006.32.143

Pillay, T.V.R. 1958: Morphological and physiological characters of the blood of *Hilsha ilisha* (Hamilton) of the river Hoogly. PRC.IND.ACAD.SCI.B, VOL.XLVII, pp. 155-163.

Plouvier V. 1962 : The cyclitols in some botanical groups; L-inositol of the composites and p-pinotol of the legumes. Compt Rend. 255 : 1770-2.

Rahman M.H and M.L. Dewan. 1988: Effects of *Leucaena Leucocephala* Seed Meal on Ducks. Bangladesh J. Agril. Sci. 15 (1): 75-77.

Rahman M.H. 1987: Leucaena Leucocephala(Ipil-Ipil) — The Versatile Legume of Tropics. Bangladesh J. Agril. Sci. 14 (2): 31-35.

Ramaswamy, M.; Reddy, T. G. 1978: A comparative study of haematology of three air-breathing fishes. PROC.INDIAN-AC.AD.-SCI.,SECT(B), Vol. 87, No. 12. pp. 381-385.

Ram RN, Sathyanesan AG., 1987: Histopathological changes in liver and thyroid of the teleost fish, *Channa punctatus* (Bloch), in response to ammonium sulfate fertilizer treatment. Ecotoxicol Environ Saf. 1987 Apr; 13(2):185-90.

Ranjhan SK. 1977: Feeds and fodders-cultivation of green forage and their nutritive characteristics. In: Ranjan SK, ed. Animal nutrition and feeding practices in India. New Delhi: Vikas Publishing House Pvt Ltd.10532.

Ravanaiah G and Narashima Murthy CV, 2010: Impact of aquaculture and industrial pollutants of Nellore district on the Histopathological changes in the gill of fish, *Tilapia mossambica* Ind. jour. Comp. Animal. Phsiol. 28(1)2010. 108-114.

Raval DK, Patel RG, Patel VS. 1988: Rheological properties of *Leucaena glauca* gum in aqueous solutions. Starch/Staerke. 40: 214-8.

Raval DK, Patel RG, Patel VS. 1988 : Synthesis and characterization of *Leucaena glauca*gum esters. Starch/ Staerke. 40: 285-7.

Raval DK, Patel MV, Patel RG, Patel VS. 1991: Prospective study of vinyl grafting onto *Leucaena glauca* seed gum and guar gum by hydrogen peroxide initiation. Starch/ Staerke. 43: 483-7.

Ribelin, W.E. and G. Migaki, 1975 : The pathology of fishes. The Univ. of Wicousin press, Ltd. 70 Great Ressellstrect, London. 305-645 pp.

Ricklefs, R.E. 1977 : Ecology, Chiron press, concord, massachusctts, 01742 : 45 pp.

Rita, K.S.D. and B. Nair, 1979: Toxicity of some insecticides to lepidocephalus thermalis (Cur. and val.) proc. Indian Nalt. Sci. Acad. part. B. Bio. Sci. 44 (3): 122-132 pp.

Roy S, Bhattacharya S., 2006: Arsenic-induced histopathology and synthesis of stress proteins in liver and kidney of *Channa punctatus*. Ecotoxicol Environ Saf. 2006 Oct;65(2):218-29. Epub 2005 Sep 16.

Rubbi, S.F., Muslemuddin and wahed, M.A. 1978: The present status of fish technology and inspection of Bangladesh. Paper presented to the FAO/DANIDA workshop of fish technology, Colombo, Srilanka.

Rushkin FR. 1984: *Leucaena*: promising forage and tree crops for the tropics. 2nd ed. National Research Council. Washington, DC: National Academy Press.

Sado R. Y. Bicudo Á. J. De A. and Cyrino J.E. P., 2008: Feeding Dietary Mannan Oligosaccharides to Juvenile Nile Tilapia, *Oreochromis niloticus*, Has No Effect on Hematological Parameters and Showed Decreased Feed Consumption. Journal of the World Aquaculture Society Volume 39, Issue 6, pages 821–826, December 2008.

Santiago C.B., Aldaba M. B, Laron M. A., Reyes O. S. 1988:Reproductive performance and growth of Nile tilapia (*Oreochromis niloticus*) broodstock fed diets containing *Leucaena leucocephala* leaf meal. Aquaculture, Volume 70, Issues 1–2, 1 May 1988, Pages 53–61

Sastry, K.V. and S.K. Sharma, 1979: Endrin induced hepatic injury in *Channa punctatus* (Ham.) Indian. J. of Fishers, VOL-26: 250-253 pp.

Schaperclaus, W., 1991: Fish. diseases, II.: 108.

Scshaperclans, W., 1991: Fish. diseases, I: 960-961.

Scott, M.L., Labadan, M.M Ranit, G.O., Ressurreccion Mateo, J.P., Abilay. T.A and Rigor E.N. (1969). Studies on the mechanism of the ovary-inhibitor action of ipil leaf meal. Poultry Science 48: 1868.

Sebastião F. A., Nomura D., Sakabe R. and Pilarski F., 2011: Hematology and Productive Performance of Nile Tilapia (*Oreochromisniloticus*) Naturally Infected With *Flavobacterium columnare*. Braz J Microbiol. 2011 Jan-Mar; 42(1): 282–289. doi: 10.1590/S1517-83822011000100036. PMCID: PMC3768935

Sethi P. 1989: Nutritional and biochemical aspects of *Leucaena leucocephala*. Doctoral thesis, Department of Chemical Technology, University of Bombay.

Sethi P. Kilkarni PR. 1993: In vitro protein digestibility of *Leucaena leucocephala* seed kernels and protein isolate. Food Chem. 46: 159-62.

Sethi P, Kulkarni PR. 1994: Functional properties of protein isolate from *Leucaena leucocephala* seeds. Int J Food SciNutr. 45: 35-9.

Serrano EP, flag LL, Mendoza EMT. 1983 : Biochemical mechanisms of mimosine toxicity to *Siderotium rolfsii* Sacc. Aust J Biol Sci. 36 : 445-54.

Shirgur G.A. 1972 : Development of Indigenous *Derris* powder Indian Fish. Assoc. 2 (1 & 2) : 35-59.

Shirgur G.A. 1974: Substitutes for Derris Powder, FAO Agric. Bull. P.10.

Shirgur G.A. 1975: Introduction of safe poison materials from indigenous plants for cleaning unwanted fishes from nursery ponds. Indian Jour. Fish. 22 (1 & 2): 126-32.

Sharma, R. K. & Shandilya, So 1982 : Observation on the haematological values of some freshwater teleosts. COMP.-PHYSIOL-ECOL. Vol. 7, No. 2, pp. 124-126.

Shanks, W.E., Gahimer, G.D., and Halver, J.E. 1962: The indispensable amino acids for rainbow trout. Progr.Fish-Cult. 24: 68-73.

Shafi M. and Quddus M.M.A. 1982: Bangladesher Mathso Shampad, Publ. by Bangla Academy, Dhaka. 1st ed. 233-244 pp.

Singh D., Nath K., Sharma and. Trivedi S. P., 2008: Hepatotoxic effect of Cu (II) in freshwater fish, *Channa punctatus*: A histopathological study.Res. Environ. Life Sci. ISSN: 0974-4908 1(1) 13-16 (2008) http://www.rels.110mb.com rel_sci@yahoo.com

Sivarajah, K.C.S. Franklin and W. William, 1978: Some Histopathological effect of Arocolor – 1254 on the liver and gonads of rainbow trout and crap. J. Fish. Biol, 13 (4): 411-414 pp.

Smith B. J., Smith S. A., Tengjaroenkul B, Lawrence TA., 2000: Gross morphology and topography of the adult intestinal tract of the tilapian fish, *Oreochromisniloticus* L. Cells Tissues Organs. 2000;166(3):294-303.Department of Biomedical Sciences and Pathobiology, Virginia-Maryland Regional College of Veterinary Medicine, Virginia Polytechnic Institute and State University, Blacksburg, VA 24061-0442, USA.

Smith N.W. 1939 : Copporsulphate and Rotenone as fish poisons. Trans. Amer. Fish. Soc. 69 : 141-157 pp.

Sotelo A, Lucas B. Uvalle A, Giral F. 1980 : Chemical composition and toxic factors content of sixteen leguminous seeds. Q J Crude Drug Res. 18 : 9-16.

Sotolu A.O. and Faturoti E.O.,2008: Digestibility and Nutritional Values of Differently Processed *Leucaena leucocephal* (Lam. de Wit) Seed Meals in the Diet of African Catfish (*Clarias gariepinus*). Middle-East Journal of Scientific Research 3 (4): 190-199, 2008.

Srivastav S.K. and Srivastav A.K. 1998: Annual changes in serum calcium and inorganic phosphate levels and correlation with gonadal status of a freshwater murrel, *Channa punctatus* (Bloch). Brazilian Journal of Medical and Biological Research, *versão On-line* ISSN 1414-431X. Braz J Med Biol Res v. 31 n. 8 RibeirãoPreto Ago. 1998; Braz J Med Biol Res, August 1998, Volume 31(8) 1069-1073http://dx.doi.org/10.1590/S0100-879X1998000800006.

Srivastava, **A.K.** * **Mishra**, **s. 1979**: Blood dyscrasia in teleost, *Colisa fasciatasa* actute exposure to sub-lethal concentrations of lead. J. FISH-BIOL. Vol. 14, pp. 199-203.

Sultan. S. and S. M. Khan, 1981: Histopathological lesion induced by copper sulphate in Hepatopancreas of Mollienesia SP.

Sutikno Al, Darma J. Prasetyo H. Ternak BP. 1991: Mimosine content in the sap of *Leucaena* species resistant and susceptible to *Heteropsyllacubana* Crawford. Toxicol Environ Chem. 33: 79-83.

Surber, E.W. 1948 : Chemical control agents and their effects on fish. The prog. Fish culture, 10 (3): 125-131 pp. Stahl. Egon. (1969) Thin Layer Chromatograhy: A laboratory handbook, Revised & expanded second edition, Springer verlag, Newyork.

TerMeulen U. Struck S. Schulke E, El-Harith EA. 1979: A review on the nutritive value and toxic aspects of *Leucaena leucocephala*. Trop Anim Prod. 4: 113-26.

TerMeulen U. Glinther KD, El-Harith EA. 1981 : Metabolic effects of mimosine on tyrosine in the rat. Z Tierphysiol Tierernahrg Futtermittelkde. 46 : 264-9.

Thomas, P.C. and T.L. Murthy. 1974: Effect of phosphamiclon on hepatic and renal catalase of a fresh bony fish. Indian J. Fishers, Vol. (21): 594-597 pp.

Tobby, T.E. and F.J. Durbin, 1975: Lindane residue accumulation and climination in rainbow trout salmogairdneri. Richardson and roach, Rutilisrutilus L. Environ. Pollut. S (2): 79-90 pp.

ToraneJV, **Lokhande CD**, **Pawar SH**. **1990**: Some studies on anaerobic decomposition of *Leucaena leucocephala* leaves. Energy Sources. 12: 25-32.

Touchstone J.C., Dobbins M.F. 1978 : Practice of thin layer chromatography. John Wiley and Sons : NY.

Trewavas, E., 1983: Tilapiine fishes of the genera *Sarotherodon*, *Oreochromis* and *Danakilia*. British Mus. Nat. Hist., London, UK. 583 p.

Ueda I. K., Egami M. I., Sasso W S, Matushima ER, 2001: Cytochemical aspects of the peripheral blood cells of *Oreochromis* (Tilapia) *niloticus*. (Linnaeus, 1758) (Cichlidae, Teleostei) - Part II. Braz. J. Vet. Res. Anim. Sci. vol.38 no.6 SãoPaulo 2001.http://dx.doi.org/10.1590/S1413-95962001000600005

U.E. Bais and M.V. Lokhande, 2012: Effect of Cadmium Chloride on Histopathological Changes in the Freshwater Fish *Ophiocephalus striatus* (*Channa*). International Journal of Zoological Research, 8:23-32.

Unrau AM. 1961: The constitution of a galactomannan from the seed of *Leucaena glauca*. J Org Chem. 26: 3097-101.

Van Duijn, C., Jr. 1967: Diseases of Fish. 2nd edition. London: Iliffe Books Limited.

Van Duijn, C., Jr. 1967: Diseases of eye, pp. 179-188. In his Diseases of Fishes. 2d edition. 309 pp. London, Iliffe Books.

Verma M, Chandra S. 1979 : Chemical examination of *Leucaena glauca*. Q J Crude Drug Res. 17 : 111-2.

Vickers, T, 1962: A study of the intestinal epithelium of the gold fish *Carassius auratus*: Its normal structure, the dynamics of cell replacement and the changes induced by salts of cobalt and manganese. Quasr. J. Microsc, sci103: 93-110.

Vijayamadhwan, K.T. and T. Iwai 1975: Bull. Jap. Soc. Sci. Fish 41: 631-639.

Vogel H.G., Vogel W.H. 1997: Drug discovery and evaluation, pharmacological assays. Berlin: Springer: 370-371, 402.

Wagner H, Baldt S. 1996 : Plant drug analysis (a thin layer chromatography atlas). 2nd ed. Springer-Verlag : Berlin.

Ward KA, Harris RLN. 1976: Inhibition of wool follicle DNA synthesis by mimosine and related 4(1H)-pyridones. Aust J Biol Sci. 29: 189-96.

Wedemyer, G. 1996 : Stress induced ascorbic acid depletion and cortisol production in two salmonoid fishes. COMP. BIOCHEM.PHYSIOL. Vol. 29, pp. 1247-1251.

Wedemyer, G. & Chatterton, K. 1970 : Some blood chemistry values for the rainbow trout (Salmo gairdneri). J. FISH.RES.BO.CAN. Vol. 27, pp. 1162-1164.

Wedemeyer, G.A and Yasutake W.T. 1977: Clinical methods for the assessment of the effects of environmental stress on fish health. Federal Government series: Technical Paper-89; U.S Fish and Wildlife service [2], 18 p. : ill; 27cm.

White, A.; phillip, L.E.; Smith & Staten, D. 1954: Principles of biochemistry. McGRAW-HILL BOOK CO. NEW YORK. 1117PP.

William, R.W.; yvarner, M.C. 1976 : Some observations the stained blood cellular elements of channel catfish, *Ictalurus punctatus.* J.-FISH.BIOL. Vol.9, pp. 491-497.

Wee, K.L. and S.S. Wang. 1987 : Nutritive value of *Leucaena* leaf meal in pelleted feed for nile tilapia. Aquaculture 62 : 97-108.

Wolbach, S.B. 1933 : Controlled formation of collagen and reticulum: A study of the source of intercellular substance in recovery from experimental scorbutus. Amer. J. Pathol. (suppl.) 9: 689-699.

Wood, E.M., and Yasutake, W.T. 1957: Histopahology of fish. V. Gill disease. Progr. Fish-Cult. 19: 7-13.

Yadav PS, Yadav IS. 1988: Proximate composition, tannin and mimosine content in different parts of cultivars of subabul. Indian J Anim Sci. 58: 953-8.

Zaki M.S., Fawzi O.M. and Jaken El-Jackey, 2008: Pathological and Biochemical Studies in *Tilapia nilotica* Infected with *Saprolegnia parasitica* and Treated with Potassium Permanganate. American-Eurasian J. Agric. & Environ. Sci., 3 (5): 677-680, 2008, ISSN 1818-6769; © IDOSI Publications, 2008.

Appendix-1

Table- Channa leaf

ANOVA

	Sum of Squares	df	Mean Square	F	Sig.
Between Groups	15.817	4	3.954	1.064	.385
Within Groups	167.251	45	3.717	0.3459900	
Total	183.068	49			

ANOVA

		Sum of Squares	df	Mean Square	F	Sig.
W	Between Groups	578.680	4	144.670	.587	.674
	Within Groups	11093.900	45	246.531		
	Total	11672.580	49			
TEC	Between Groups	.166	4	.041	.565	.689
	Within Groups	3.298	45	.073	2.000	
	Total	3.463	49	MOSC-1840		

ANOVA

	Allova									
		Sum of Squares	df	Mean Square	F	Sig.				
TLC	Between Groups	168.168	4	42.042	.734	.573				
	Within Groups	2576.544	45	57.257						
	Total	2744.712	49							
THROMBO	Between Groups	28.444	4	7.111	1.743	.157				
	Within Groups	183.606	45	4.080						
	Total	212.050	49							
LYMPHO	Between Groups	11.671	4	2.918	2.904	.032				
	Within Groups	45.215	45	1.005						
	Total	56.886	49							
MONO	Between Groups	8.920	4	2.230	.872	.488				
	Within Groups	115.100	45	2.558	92347-0					
	Total	124.020	49							
Es	Between Groups	32.520	4	8.130	3.951	.008				
	Within Groups	92.600	45	2.058						
	Total	125.120	49							

ANOVA

BASO

	Sum of Squares	df	Mean Square	F	Sig.
Between Groups	.280	4	.070	.258	.903
Within Groups	12.200	45	.271	200000000	
Total	12.480	49			

Multiple Comparisons

Tukey HSD 95% Confidence Interval (I) CHA NAL (J) CHA Depend Mean Difference (Ient NAL EAF EAF Std. Error Sig. Lower Bound Upper Bound Variable LYMPHO 2 .69300 .44828 .539 -.58081.9668 3 1.31300 .44828 .040 .0392 2.5868 4 49400 44828 .805 -.77981.7678 5 44828 1.000 1.3058 .03200 -1.24182 1 -.69300 .44828 .539-1.9668.5808 3 .62000 .44828 .641 -.6538 1.8938 4 -.19900 .44828 .992 -1.47281.0748 5 -.66100 44828 .584 -1.9348.6128 3 1 -1.31300 .44828 .040 -2.5868-.0392 2 -.62000.44828 .641 -1.8938.6538 4 -.81900 .44828 .371 -2.0928.4548 5 -1.28100 .44828 .048-2.5548-.0072 4 1 -.49400 .44828 .805 -1.7678.7798 2 .992 -1.0748.19900 .44828 1.4728 3 .81900 .44828 .371 2.0928 -.45485 -.4620044828 840 -1.73588118 5 1 -.03200.44828 1.000 -1.30581.2418 2 .584 1.9348 .66100 44828 -.61283 1.28100 44828 .048 .0072 2.5548 4 46200 44828 .840 -.8118 1.7358 Es 2 1 -.60000 .64153 .882 -2.42291.2229 3 -1.10000.64153 .436 -2.9229.72294 -2.10000 .64153 .017 -.2771 -3.92295 -2.00000° .025 64153 -3.8229-.1771 2 1 .64153 .882 2.4229 .60000 -1.22293 -.50000 .64153 .935 -2.32291.3229 4 -1.50000.64153 .152 -3.3229.3229 5 -1.40000 64153 .205 -3.22294229 3 1 1.10000 .64153 .436 2.9229 -.72292 2.3229 .50000 .64153 .935 -1.32294 -1.00000 .64153 .531 .8229 -2.82295 -.90000 .9229 .64153 .629 -2.72294 1 2.10000 .64153 .017 3.9229 .2771 2 1.50000 .64153 -.32293.3229 .152 3 1.00000 .64153 .531 -.82292.8229 5 .10000 64153 1.000 -1.72291.9229 5 1 2.00000 .64153 .025 .1771 3.8229 2 1.40000 .64153 .205 -.42293.2229 3 .629 .90000 64153 -.92292.7229 4 1.000 -.1000064153 -1.92291.7229

^{*.} The mean difference is significant at the 0.05 level.

Appendix-2

Table- *Oreochromis* leaf

ANOVA

	2	Sum of Squares	df	Mean Square	F	Sig.
L	Between Groups	25.020	4	6.255	1.288	.289
	Within Groups	218.500	45	4.856		
	Total	243.520	49			
W	Between Groups	6808.150	4	1702.037	.990	.423
	Within Groups	77351.850	45	1718.930	10.00	
	Total	84160.000	49			
	Between Groups	1.277	4	.319	.167	,954
	Within Groups	85.837	45	1.907		
	Total	87.114	49			
TLC	Between Groups	966.663	4	241.666	.594	.668
	Within Groups	18292.638	45	406.503	1505500	
	Total	19259.301	49			
THROMBO	Between Groups	81.107	4	20.277	5.058	.002
	Within Groups	180.413	45	4.009	100000000000000000000000000000000000000	
	Total	261.520	49	3390 30000000		

		Sum of Squares	df	Mean Square	F	Sig.
LYMPHO	Between Groups	19.676	4	4.919	5.058	.002
	Within Groups	43.767	45	.973		
	Total	63.443	49			
MONO	Between Groups	7.000	4	1.750	.308	.871
	Within Groups	255.500	45	5.678		
	Total	262.500	49			
NEO	Between Groups	85.880	4	21.470	7.353	.000
	Within Groups	131.400	45	2.920	5.058 .308 7.353	
	Total	217.280	49			
BASO	Between Groups	.280	4	.070	.321	.862
	Within Groups	9.800	45	.218		
	Total	10.080	49			
Es	Between Groups	36.520	4	9.130	4.020	.007
	Within Groups	102.200	45	2.271		
	Total	138.720	49			

Multiple Comparisons

Tukey HSD

Tukey HSD							
	(I)	(J)				95% Confide	ence Interval
Dependent	_	OREO_	Mean				
Variable	LEAF	LEAF	Difference (I-J)	Std. Error	Sig.	Lower Bound	Upper Bound
ТНКОМВО	1	2	.33500	.89545	.996	-2.2094	2.8794
		3	1.54100	.89545	.432	-1.0034	4.0854
		4	3.35000 [*]	.89545	.004	.8056	5.8944
		5	2.54600 [*]	.89545	.050	.0016	5.0904
	2	1	33500	.89545	.996	-2.8794	2.2094
		3	1.20600	.89545	.664	-1.3384	3.7504
		4	3.01500 [*]	.89545	.013	.4706	5.5594
		5	2.21100	.89545	.116	3334	4.7554
	3	1	-1.54100	.89545	.432	-4.0854	1.0034
		2	-1.20600	.89545	.664	-3.7504	1.3384
		4	1.80900	.89545	.273	7354	4.3534
		5	1.00500	.89545	.794	-1.5394	3.5494
	4	1	-3.35000 [*]	.89545	.004	-5.8944	8056
		2	-3.01500 [*]	.89545	.013	-5.5594	4706
		3	-1.80900	.89545	.273	-4.3534	.7354
		5	80400	.89545	.896	-3.3484	1.7404
	5	1	-2.54600 [*]	.89545	.050	-5.0904	0016
		2	-2.21100	.89545	.116	-4.7554	.3334
		3	-1.00500	.89545	.794	-3.5494	1.5394
		4	.80400	.89545	.896	-1.7404	3.3484
LYMPHO	1	2	.16500	.44104	.996	-1.0882	1.4182
		3	.75900	.44104	.432	4942	2.0122
		4	1.65000 [*]	.44104	.004	.3968	2.9032
		5	1.25400 [*]	.44104	.050	.0008	2.5072
	2	1	16500	.44104	.996	-1.4182	1.0882
		3	.59400	.44104	.664	6592	1.8472
		4	1.48500 [*]	.44104	.013	.2318	2.7382
		5	1.08900	.44104	.116	1642	2.3422

	3	1	75900	.44104	.432	-2.0122	.4942
		2	59400	.44104	.664	-1.8472	.6592
		4	.89100	.44104	.273	3622	2.1442
		5	.49500	.44104	.794	7582	1.7482
	4	1	-1.65000 [*]	.44104	.004	-2.9032	3968
		2	-1.48500 [*]	.44104	.013	-2.7382	2318
		3	89100	.44104	.273	-2.1442	.3622
		5	39600	.44104	.896	-1.6492	.8572
	5	1	-1.25400 [*]	.44104	.050	-2.5072	0008
		2	-1.08900	.44104	.116	-2.3422	.1642
		3	49500	.44104	.794	-1.7482	.7582
		4	.39600	.44104	.896	8572	1.6492
NE	1	2	40000	.76420	.985	-2.5714	1.7714
		3	-1.80000	.76420	.147	-3.9714	.3714
		4	-3.30000 [*]	.76420	.001	-5.4714	-1.1286
		5	-2.90000 [*]	.76420	.004	-5.0714	7286
	2	1	.40000	.76420	.985	-1.7714	2.5714
		3	-1.40000	.76420	.368	-3.5714	.7714
		4	-2.90000 [*]	.76420	.004	-5.0714	7286
		5	-2.50000 [*]	.76420	.017	-4.6714	3286
	3	1	1.80000	.76420	.147	3714	3.9714
		2	1.40000	.76420	.368	7714	3.5714
		4	-1.50000	.76420	.300	-3.6714	.6714
		5	-1.10000	.76420	.606	-3.2714	1.0714
	4	1	3.30000 [*]	.76420	.001	1.1286	5.4714
		2	2.90000 [*]	.76420	.004	.7286	5.0714
		3	1.50000	.76420	.300	6714	3.6714
		5	.40000	.76420	.985	-1.7714	2.5714
	5	1	2.90000 [*]	.76420	.004	.7286	5.0714
		2	2.50000 [*]	.76420	.017	.3286	4.6714
		3	1.10000	.76420	.606	-1.0714	3.2714
		4	40000	.76420	.985	-2.5714	1.7714
ES	1	2	.10000	.67396	1.000	-1.8150	2.0150
		3	70000	.67396	.836	-2.6150	1.2150
		_	ľ	1	l l		

	_					-
	4	-1.80000	.67396	.075	-3.7150	.1150
	5	-1.90000	.67396	.053	-3.8150	.0150
2	1	10000	.67396	1.000	-2.0150	1.8150
	3	80000	.67396	.759	-2.7150	1.1150
	4	-1.90000	.67396	.053	-3.8150	.0150
	5	-2.00000 [*]	.67396	.037	-3.9150	0850
3	1	.70000	.67396	.836	-1.2150	2.6150
	2	.80000	.67396	.759	-1.1150	2.7150
	4	-1.10000	.67396	.485	-3.0150	.8150
	5	-1.20000	.67396	.397	-3.1150	.7150
4	1	1.80000	.67396	.075	1150	3.7150
	2	1.90000	.67396	.053	0150	3.8150
	3	1.10000	.67396	.485	8150	3.0150
	5	10000	.67396	1.000	-2.0150	1.8150
5	1	1.90000	.67396	.053	0150	3.8150
	2	2.00000 [*]	.67396	.037	.0850	3.9150
	3	1.20000	.67396	.397	7150	3.1150
	4	.10000	.67396	1.000	-1.8150	2.0150

^{*.} The mean difference is significant at the 0.05 level.

Appendix-3

Table- Channa leaf 2

ANOVA

		Sum of Squares	df	Mean Square	F	Sig.
length	Between Groups	15.817	4	3.954	1.064	.385
	Within Groups	167.251	45	3.717		
	Total	183.068	49	0.000		
weiht	Between Groups	578.680	4	144.670	.587	.674
	Within Groups	11093.900	45	246.531	1,000	
	Total	11672.580	49	144001-0013-4444001-00-4040		
TEC	Between Groups	tween Groups .179 4 .045 .61	.615	.654		
	Within Groups	3.275	45	.073	2000000	
	Total	3.454	49	20.00	1.064	
hb	Between Groups	.911	4	.228	.359	.837
	Within Groups	28.575	45	.635	5355 555	
	Total	29.486	49	534700		
hct	Between Groups	10.145	4	2.536	.400	.808
	Within Groups	285.312	45	6.340	6568000000	
	Total	295.457	49			

		Sum of Squares	df	Mean Square	F	Sig.
MCV	Between Groups	352.545	4	88.136	2.279	.075
Within Gr	Within Groups	1740.340	45	38.674		
	Total	2092.885	49			
MCH	Between Groups	4.822	4	1.205	.662	.622
	Within Groups	81.935	45	1.821	2.279	
	Total	86.757	49			
MCHC	Between Groups	3.229	4	.807	1.814	.143
	Within Groups	20.029	45	.445	5	
	Total	23.258	49			

Appendix-4

Table- *Oreochromis* leaf 2

ANOVA

		Sum of Squares	df	Mean Square	F	Sig.
length	Between Groups	25.020	4	6.255	1.288	.289
	Within Groups	218.500	45	4.856		
	Total	243.520	49			
	Between Groups	6808.150	4	1702.037	.990	.423
	Within Groups	77350.850	45	1718.908	50.00	
	Total	84159.000	49	C200-300-30-000-00-0		
TEC	Between Groups	1.277	4	.319	.167	.954
	Within Groups	85.837	45	1.907	.990 .167	
	Total	87.114	49			
hb	Between Groups	.964	4	.241	.076	.989
	Within Groups	142.079	45	3.157	200000000	
	Total	143.043	49			
hct	Between Groups	.512	4	.128	.011	1.000
	Within Groups	503.514	45	11.189	6.000000000	
	Total	504.026	49	anvantantantantantantantantantantantantanta		

		Sum of Squares	df	Mean Square	F	Sig.
MCV	Between Groups	46.039	4	11.510	.848	.502
	Within Groups	610.489	45	13.566		
	Total	656.528	49			
MCH	Between Groups	.796	4	.199	.304	.874
	Within Groups	29.451	45	.654	800.00	
	Total	30.247	49			
MCHC	Between Groups	4.704	4	1.176	.181	,947
	Within Groups	292.958	45	6.510	50000000	
	Total	297.662	49			

Appendix-5

Table- Channa leaf 3

ANOVA

		Sum of Squares	df	Mean Square	F	Sig.
L	Between Groups	15.817	4	3.954	1.064	.385
	Within Groups	167.251	45	3.717		
	Total	183.068	49	800000000		
W	Between Groups	578.680	4	144.670	.587	.674
	Within Groups	11093.900	45	246.531	- 35	
	Total	11672.580	49	***************************************		
TOTAL_PROTIEN	Between Groups	1.533	4	.383	13.508	,000
	Within Groups	1.277	45	.028	1000000000	
	Total	2.810	49	2-12-11-1		
ALBUMIN	Between Groups	.332	4	.083	7.733	.000
	Within Groups	.484	45	.011	***********	
	Total	.816	49	1000000		
GLOBULIN	Between Groups	.426	4	.106	9.976	.000
	Within Groups	.480	45	.011	STATE OF THE PARTY	
	Total	.906	49			

		Sum of Squares	df	Mean Square	F	Sig.
GLUCOSE	Between Groups	727.113	4	181.778	1.304	.283
	Within Groups	6273.614	45	139.414		
	Total	7000.727	49	11 53,78,01 (53,14)		
UREA	Between Groups	20.354	4	5.089	1.203	.323
	Within Groups	190.333	45	4.230	1.35.57	
	Total	210.687	49	0.000 0000		
CREATININE	Between Groups	.009	4	.002	.737	.572
	Within Groups	.139	45	.003	1000000	
	Total	.149	49			
CHOLESTEROL	Between Groups	587.576	4	146.894	.526	.717
	Within Groups	12560.290	45	279.118		
	Total	13147.866	49			

Multiple Comparisons

Tukey HSD

Dependent	(I)	(J)	Mean	Std. Error	Sig.	95% Confide	ence Interval
Variable			Difference (I-J)			Lower Bound	Upper Bound
	_leaf_2	_leaf_2					- 1.1.
TOTAL_PROTIEN	1	2	22200 [*]	.07533	.039	4360	0080
		3	32400 [*]	.07533	.001	5380	1100
		4	41100 [*]	.07533	.000	6250	1970
		5	51100 [*]	.07533	.000	7250	2970
	2	1	.22200 [*]	.07533	.039	.0080	.4360
		3	10200	.07533	.659	3160	.1120
		4	18900	.07533	.107	4030	.0250
		5	28900 [*]	.07533	.003	5030	0750
	3	1	.32400 [*]	.07533	.001	.1100	.5380
		2	.10200	.07533	.659	1120	.3160
-		4	08700	.07533	.776	3010	.1270
		5	18700	.07533	.113	4010	.0270
	4	1	.41100 [*]	.07533	.000	.1970	.6250
		2	.18900	.07533	.107	0250	.4030
		3	.08700	.07533	.776	1270	.3010
		5	10000	.07533	.676	3140	.1140
	5	1	.51100 [*]	.07533	.000	.2970	.7250
		2	.28900 [*]	.07533	.003	.0750	.5030
		3	.18700	.07533	.113	0270	.4010
		4	.10000	.07533	.676	1140	.3140
ALBUMIN	1	2	10300	.04636	.190	2347	.0287
		3	15100 [^]	.04636	.017	2827	0193
		4	19100 [*]	.04636	.001	3227	0593
		5	23800 [~]	.04636	.000	3697	1063

	2	1	.10300	.04636	.190	0287	.2347
		3	04800	.04636	.838	1797	.0837
		4	08800	.04636	.333	2197	.0437
		5	13500 [*]	.04636	.042	2667	0033
	3	1	.15100 [~]	.04636	.017	.0193	.2827
		2	.04800	.04636	.838	0837	.1797
		4	04000	.04636	.909	1717	.0917
		5	08700	.04636	.344	2187	.0447
	4	1	.19100 [*]	.04636	.001	.0593	.3227
		2	.08800	.04636	.333	0437	.2197
		3	.04000	.04636	.909	0917	.1717
		5	04700	.04636	.848	1787	.0847
	5	1	.23800	.04636	.000	.1063	.3697
		2	.13500 [*]	.04636	.042	.0033	.2667
		3	.08700	.04636	.344	0447	.2187
		4	.04700	.04636	.848	0847	.1787
GLOBULIN	1	2	12000	.04619	.088	2512	.0112
		3	17300 [^]	.04619	.004	3042	0418
		4	22000 [*]	.04619	.000	3512	0888
		5	26800 ⁻	.04619	.000	3992	1368
	2	1	.12000	.04619	.088	0112	.2512
		3	05300	.04619	.780	1842	.0782
		4	10000	.04619	.212	2312	.0312
		5	14800 [~]	.04619	.020	2792	0168
	3	1	.17300 [*]	.04619	.004	.0418	.3042
		2	.05300	.04619	.780	0782	.1842
		4	04700	.04619	.846	1782	.0842
		5	09500	.04619	.257	2262	.0362
	4	1	.22000 [*]	.04619	.000	.0888	.3512
		2	.10000	.04619	.212	0312	.2312
		_	ı	I		I	ı İ

		3	.04700	.04619	.846	0842	.1782
		5	04800	.04619	.836	1792	.0832
-	5	1	.26800 [*]	.04619	.000	.1368	.3992
		2	.14800 [^]	.04619	.020	.0168	.2792
		3	.09500	.04619	.257	0362	.2262
		4	.04800	.04619	.836	0832	.1792

^{*.} The mean difference is significant at the 0.05 level.

Appendix-6

Table- Oreochromis leaf 3

ANOVA

		Sum of Squares	df	Mean Square	F	Sig.
L	Between Groups	25.020	4	6.255	1.288	.289
	Within Groups	218.500	45	4.856		
	Total	243.520	49	ACCEPTAGE.		
W	Between Groups	6808.150	4	1702.037	.990	.423
	Within Groups	77351.850	45	1718.930	1.000/0	
	Total	84160.000	49	Service Manager Access		
TOTAL_PROTIEN	Between Groups	2.906	4	.726	3.925	,008
	Within Groups	8.329	45	.185	5607540	
	Total	11.235	49	11953020		
ALBUMIN	Between Groups	.695	4	.174	3.662	.012
	Within Groups	2.136	45	.047	100000000000000000000000000000000000000	
	Total	2.832	49			
GLOBULIN	Between Groups	.762	4	.190	2.353	.068
	Within Groups	3.642	45	.081	ensemble son	
	Total	4.404	49			

		Sum of Squares	df	Mean Square	F	Sig.
GLUCOSE	Between Groups	1505.532	4	376.383	2.551	.052
	Within Groups	6640.444	45	147.565		
	Total	8145.976	49	111111111111111111111111111111111111111		
UREA	Between Groups	14.748	4	3.687	1.242	.307
	Within Groups	133.639	45	2.970		
	Total	148,387	49	20000000		
CREATININE	Between Groups	.009	4	.002	2.054	.103
	Within Groups	.048	45	.001		
	Total	.057	49			
CHOLESTEROL	Between Groups	2724.422	4	681.105	.527	.716
	Within Groups	58143.029	45	1292.067	535562	
	Total	60867.450	49	Anna Andrew Victor Pinna		

Multiple Comparisons

Tukey HSD

Dependent	(I)	(J)	Mean	Std. Error	Sig.	95% Confide	ence Interval
Variable	oreo_l eaf_3		Difference (I-J)		J	Lower Bound	Upper Bound
TOTAL_PROTIEN	1	2	29900	.19240	.534	8457	.2477
		3	57100 [*]	.19240	.037	-1.1177	0243
		4	44200	.19240	.165	9887	.1047
		5	69900 [*]	.19240	.006	-1.2457	1523
	2	1	.29900	.19240	.534	2477	.8457
		3	27200	.19240	.622	8187	.2747
		4	14300	.19240	.945	6897	.4037
		5	40000	.19240	.247	9467	.1467
	3	1	.57100 [*]	.19240	.037	.0243	1.1177
		2	.27200	.19240	.622	2747	.8187
		4	.12900	.19240	.962	4177	.6757
		5	12800	.19240	.963	6747	.4187
	4	1	.44200	.19240	.165	1047	.9887
		2	.14300	.19240	.945	4037	.6897
		3	12900	.19240	.962	6757	.4177
		5	25700	.19240	.671	8037	.2897
	5	1	.69900 [*]	.19240	.006	.1523	1.2457
		2	.40000	.19240	.247	1467	.9467
		3	.12800	.19240	.963	4187	.6747
		4	.25700	.19240	.671	2897	.8037
ALBUMIN	1	2	13800	.09744	.621	4149	.1389
		3	27800 [*]	.09744	.049	5549	0011

						_
	4	21400	.09744	.200	4909	.0629
	5	34000 [*]	.09744	.009	6169	0631
2	1	.13800	.09744	.621	1389	.4149
	3	14000	.09744	.608	4169	.1369
	4	07600	.09744	.935	3529	.2009
	5	20200	.09744	.250	4789	.0749
3	1	.27800 [*]	.09744	.049	.0011	.5549
	2	.14000	.09744	.608	1369	.4169
	4	.06400	.09744	.964	2129	.3409
	5	06200	.09744	.968	3389	.2149
4	1	.21400	.09744	.200	0629	.4909
	2	.07600	.09744	.935	2009	.3529
	3	06400	.09744	.964	3409	.2129
	5	12600	.09744	.697	4029	.1509
5	1	.34000 [*]	.09744	.009	.0631	.6169
	2	.20200	.09744	.250	0749	.4789
	3	.06200	.09744	.968	2149	.3389
	4	.12600	.09744	.697	1509	.4029

 $^{^{\}ast}.$ The mean difference is significant at the 0.05 level.

Appendix-7

Table- Channa seed 3

ANOVA

		Sum of Squares	df	Mean Square	F	Sig.
L	Between Groups	14.331	4	3.583	.907	.468
	Within Groups	177.678	45	3.948		
	Total	192.009	49			
W	Between Groups	1586.120	4	396.530	1.560	.201
	Within Groups	11441.100	45	254.247	1.000	
	Total	13027.220	49	10.100.1012.1000		
TEC	Between Groups	.190	4	.047	.598	.666
	Within Groups	3.564	45	.079	500.000	
	Total	3.753	49			
TLC	Between Groups	217.109	4	54.277	.813	.524
	Within Groups	3004.618	45	66.769	136-33-55	
	Total	3221.726	49	P00204090, 0000		
THROMBO	Between Groups	35.176	4	8.794	2.368	.067
	Within Groups	167.115	45	3.714	15-94-2-5-1-1-1-1	
	Total	202.291	49			

		Sum of Squares	df	Mean Square	F	Sig.
LYNPHO	Between Groups	4.996	4	1.249	1.376	.257
	Within Groups	40.842	45	.908		
	Total	45.839	49			
MONO	Between Groups	3.000	4	.750	.273	.894
	Within Groups	123.500	45	2.744		
	Total	126.500	49			
NE	Between Groups	7.720	4	1.930	.439	.780
	Within Groups	197.900	45	4.398		
	Total	205.620	49	1000-000		
ES	Between Groups	14.680	4	3.670	1.504	.217
	Within Groups	109.800	45	2.440		
	Total	124.480	49			
BASO	Between Groups	.280	4	.070	.274	.893
	Within Groups	11.500	45	.256	caes atrates	
	Total	11.780	49			

Appendix-8

Table- Oreochromis seed 3

ANOVA

		Sum of Squares	df	Mean Square	F	Sig.
L	Between Groups	7.730	4	1.933	.727	.578
	Within Groups	119.675	45	2.659		
	Total	127.405	49	100000000000000000000000000000000000000		
W	Between Groups	4806.580	4	1201.645	2.695	.043
	Within Groups	20066.825	45	445.929	300,000	
	Total	24873.405	49			
TEC	Between Groups	.461	4	.115	.075	,989
	Within Groups	68.877	45	1.531	50000000	
	Total	69.338	49	15575700.557		
TLC	Between Groups	1251.529	4	312.882	2.168	.088
	Within Groups	6493,583	45	144.302	5666665556	
	Total	7745.113	49			
THROMBO	Between Groups	46.690	4	11.672	2.313	.072
	Within Groups	227.118	45	5.047	100000000000000000000000000000000000000	
	Total	273.808	49	7-0.00.700		

		Sum of Squares	df	Mean Square	F	Sig.
LYNPHO	Between Groups	11.334	4	2.834	2.314	.072
	Within Groups	55.103	45	1.225		
	Total	66.438	49		7:	
MONO	Between Groups	9.680	4	2.420	.457	.767
	Within Groups	238.100	45	5.291		
	Total	247.780	49			
NE	Between Groups	29.920	4	7.480	1.221	.315
	Within Groups	275.600	45	6.124		
	Total	305.520	49			
ES	Between Groups	64.000	4	16.000	6.000	.001
	Within Groups	120.000	45	2.667		
	Total	184.000	49			
BASO	Between Groups	.120	4	.030	.142	.966
	Within Groups	9.500	45	.211		
	Total	9.620	49			

Multiple Comparisons

Tukey HSD

Tukey F	.05				1		ı
Depend						95% Confide	ence Interval
ent	(I)	(J)					
Variabl	oreo_s	oreo_s	Mean				
е	eed_3	eed_3	Difference (I-J)	Std. Error	Sig.	Lower Bound	Upper Bound
w	1	2	23.75000	9.44383	.105	-3.0842	50.5842
		3	26.35000	9.44383	.057	4842	53.1842
		4	24.35000	9.44383	.092	-2.4842	51.1842
		5	22.95000	9.44383	.126	-3.8842	49.7842
	2	1	-23.75000	9.44383	.105	-50.5842	3.0842
		3	2.60000	9.44383	.999	-24.2342	29.4342
		4	.60000	9.44383	1.000	-26.2342	27.4342
		5	80000	9.44383	1.000	-27.6342	26.0342
	3	1	-26.35000	9.44383	.057	-53.1842	.4842
		2	-2.60000	9.44383	.999	-29.4342	24.2342
		4	-2.00000	9.44383	1.000	-28.8342	24.8342
		5	-3.40000	9.44383	.996	-30.2342	23.4342
	4	1	-24.35000	9.44383	.092	-51.1842	2.4842
		2	60000	9.44383	1.000	-27.4342	26.2342
		3	2.00000	9.44383	1.000	-24.8342	28.8342
		5	-1.40000	9.44383	1.000	-28.2342	25.4342
	5	1	-22.95000	9.44383	.126	-49.7842	3.8842
		2	.80000	9.44383	1.000	-26.0342	27.6342
		3	3.40000	9.44383	.996	-23.4342	30.2342
		4	1.40000	9.44383	1.000	-25.4342	28.2342
ES	1	2	40000	.73030	.982	-2.4751	1.6751
		3	-1.70000	.73030	.155	-3.7751	.3751
		4	-2.80000 [*]	.73030	.003	-4.8751	7249
		5	-2.60000 [*]	.73030	.008	-4.6751	5249
	2	1	.40000	.73030	.982	-1.6751	2.4751
	_	3	-1.30000	.73030	.398	-3.3751	.7751

	4	ı	-2.40000 [*]	.73030	.016	-4.4751	3249
_	5	5	-2.20000 [*]	.73030	.033	-4.2751	1249
;	3 1		1.70000	.73030	.155	3751	3.7751
	2	2	1.30000	.73030	.398	7751	3.3751
	4	ı	-1.10000	.73030	.564	-3.1751	.9751
_	5	5	90000	.73030	.733	-2.9751	1.1751
	4 1		2.80000 [*]	.73030	.003	.7249	4.8751
	2	!	2.40000 [*]	.73030	.016	.3249	4.4751
	3	3	1.10000	.73030	.564	9751	3.1751
_	5	;	.20000	.73030	.999	-1.8751	2.2751
	5 1		2.60000 [*]	.73030	.008	.5249	4.6751
	2	!	2.20000 [*]	.73030	.033	.1249	4.2751
	3	3	.90000	.73030	.733	-1.1751	2.9751
	4	ļ.	20000	.73030	.999	-2.2751	1.8751

 $^{^{\}star}.$ The mean difference is significant at the 0.05 level.

Appendix-9

Table- Channa seed 3.2

ANOVA

		Sum of Squares	df	Mean Square	F	Sig.
length	Between Groups	14.331	4	3.583	.907	.468
	Within Groups	177.678	45	3.948		
	Total	192.009	49	0,000,000		
weght	Between Groups	1586.120	4	396.530	1.560	.201
	Within Groups	11441.100	45	254.247	95000	
	Total	13027.220	49	100000000000000000000000000000000000000		
TEC	Between Groups	.190	4	.047	.598	.666
	Within Groups	3.564	45	.079	20000000	
	Total	3.753	49			
hb	Between Groups	.372	4	.093	.190	.942
	Within Groups	21.993	45	.489	300000000	
	Total	22.365	49			
hct	Between Groups	1.894	4	.474	.084	.987
	Within Groups	254.653	45	5.659	Messes	
	Total	256.548	49			

		Sum of Squares	df	Mean Square	F	Sig.
MCV	Between Groups	253.573	4	63.393	1.299	.285
	Within Groups	2195.549	45	48.790		
	Total	2449.122	49			
MCH	Between Groups	10.762	4	2.690	.997	.419
	Within Groups	121.380	45	2.697	165.5	
	Total	132.142	49	1.000.000		
MCHC	Between Groups	.316	4	.079	.238	,916
	Within Groups	14.948	45	.332	100000000000000000000000000000000000000	
	Total	15.263	49	,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,		

Appendix-10

Table- Oreochromis seed 3.2

ANOVA

		Sum of Squares	df	Mean Square	F	Sig.
length	Between Groups	7.730	4	1.933	.727	.578
	Within Groups	119.675	45	2.659		
	Total	127.405	49	(33/00/30)		
weght	Between Groups	4806.580	4	1201.645	2.695	.043
	Within Groups	20066.825	45	445.929	1100-	
	Total	24873.405	49	600000000000000000000000000000000000000		
TEC	Between Groups	.461	4	.115	.075	.989
	Within Groups	68.877	45	1.531		
	Total	69.338	49	The version of		
hb	Between Groups	.328	4	.082	.026	.999
	Within Groups	142.847	45	3.174	2352255	
	Total	143.175	49	W-150.0000		
hct	Between Groups	.318	4	.080	.007	1.000
	Within Groups	504.265	45	11.206	67052450	
	Total	504.583	49			

		Sum of Squares	df	Mean Square	F	Sig.
MCV	Between Groups	9.424	4	2.356	.357	.838
	Within Groups	296.914	45	6.598		
	Total	306.338	49			
MCH	Between Groups	.141	4	.035	.061	.993
	Within Groups	25.985	45	.577		
	Total	26.126	49	5410001		
MCHC	Between Groups	1.398	4	.349	.054	,994
	Within Groups	292.718	45	6.505	1000000	
	Total	294.116	49	700.00000		

Multiple Comparisons

weight

Tukey HSD

(I)	(J)				95% Confide	nco Intorval
		Mean			95 % Connue	ince interval
oreo_s eed 3.2	eed_3.2		Std. Error	Sig.	Lower Bound	Upper Bound
	_					
1	2	23.75000	9.44383	.105	-3.0842	50.5842
	3	26.35000	9.44383	.057	4842	53.1842
	4	24.35000	9.44383	.092	-2.4842	51.1842
	5	22.95000	9.44383	.126	-3.8842	49.7842
2	1	-23.75000	9.44383	.105	-50.5842	3.0842
	3	2.60000	9.44383	.999	-24.2342	29.4342
	4	.60000	9.44383	1.000	-26.2342	27.4342
	5	80000	9.44383	1.000	-27.6342	26.0342
3	1	-26.35000	9.44383	.057	-53.1842	.4842
	2	-2.60000	9.44383	.999	-29.4342	24.2342
	4	-2.00000	9.44383	1.000	-28.8342	24.8342
	5	-3.40000	9.44383	.996	-30.2342	23.4342
4	1	-24.35000	9.44383	.092	-51.1842	2.4842
	2	60000	9.44383	1.000	-27.4342	26.2342
	3	2.00000	9.44383	1.000	-24.8342	28.8342
	5	-1.40000	9.44383	1.000	-28.2342	25.4342
5	1	-22.95000	9.44383	.126	-49.7842	3.8842
	2	.80000	9.44383	1.000	-26.0342	27.6342
	3	3.40000	9.44383	.996	-23.4342	30.2342
	4	1.40000	9.44383	1.000	-25.4342	28.2342

Appendix-11

Table- Channa seed 4

ANOVA

		Sum of Squares	df	Mean Square	F	Sig.
length	Between Groups	14.331	4	3.583	.907	.468
	Within Groups	177.678	45	3.948		
	Total	192.009	49	5,11,010-10-20,01		
weght	Between Groups	1586.120	4	396.530	1.560	.201
	Within Groups	11441.100	45	254.247		
	Total	13027.220	49	111,130,3013,23000		
total_protien	Between Groups	.761	4	.190	2.579	,050
	Within Groups	3.318	45	.074	CG1150050	
	Total	4.079	49			
albumin	Between Groups	.195	4	.049	3.211	.021
	Within Groups	.682	45	.015	30,000,00	
	Total	.877	49			
globulin	Between Groups	.186	4	.046	1.456	.231
	Within Groups	1.434	45	.032	132/65/2015	
	Total	1.620	49			

		Sum of Squares	df	Mean Square	F	Sig.
glocuse	Between Groups	840.155	4	210.039	1.527	.211
	Within Groups	6190.676	45	137.571		
	Total	7030.831	49	940005X ISPN		
urea	Between Groups	18.168	4	4.542	1.084	.376
	Within Groups	188.474	45	4.188	7,745	
	Total	206.642	49	12.000.0000		
creatinine	Between Groups	.011	4	.003	.896	,474
	Within Groups	.136	45	.003	3-3360.000	
	Total	.147	49	,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,		
cholesterol	Between Groups	839.247	4	209.812	.786	.541
	Within Groups	12018.717	45	267.083	000000	
	Total	12857.965	49			

Multiple Comparisons

albumin

Tukey HSD

(I)	(J)				95% Confide	ence Interval
	channa					
seed	_seed_	Mean				
4	4	Difference (I-J)	Std. Error	Sig.	Lower Bound	Upper Bound
1	2	06200	.05506	.792	2185	.0945
	3	09900	.05506	.387	2555	.0575
	4	13500	.05506	.120	2915	.0215
	5	18300 [*]	.05506	.015	3395	0265
2	1	.06200	.05506	.792	0945	.2185
	3	03700	.05506	.961	1935	.1195
	4	07300	.05506	.677	2295	.0835
	5	12100	.05506	.199	2775	.0355
3	1	.09900	.05506	.387	0575	.2555
	2	.03700	.05506	.961	1195	.1935
	4	03600	.05506	.965	1925	.1205
	5	08400	.05506	.552	2405	.0725
4	1	.13500	.05506	.120	0215	.2915
	2	.07300	.05506	.677	0835	.2295
	3	.03600	.05506	.965	1205	.1925
	5	04800	.05506	.906	2045	.1085
5	1	.18300 [*]	.05506	.015	.0265	.3395
	2	.12100	.05506	.199	0355	.2775
	3	.08400	.05506	.552	0725	.2405
	4	.04800	.05506	.906	1085	.2045

^{*.} The mean difference is significant at the 0.05 level.

Appendix-12

Table- Oreochromis seed 4

ANOVA

		Sum of Squares	df	Mean Square	F	Sig.
L	Between Groups	7.730	4	1.933	.727	.578
	Within Groups	119.675	45	2.659		
	Total	127.405	49	10.440		
W	Between Groups	4806.580	4	1201.645	2.695	.043
	Within Groups	20066.825	45	445.929	309, 550, 0	
	Total	24873.405	49			
total_protien	Between Groups	1.814	4	.453	1.818	.142
	Within Groups	11.222	45	.249	2235255	
	Total	13.036	49	100,000		
albumin	Between Groups	.414	4	.103	1.787	.148
	Within Groups	2.604	45	.058	93369293	
	Total	3.018	49			
globulin	Between Groups	.492	4	.123	1.625	.185
	Within Groups	3.405	45	.076	132/10/2016	
	Total	3.897	49	***********		

		Sum of Squares	df	Mean Square	F	Sig.
glocuse	Between Groups	1212.673	4	303.168	2.105	.096
	Within Groups	6479.882	45	143.997		
	Total	7692.555	49	1000000000		
urea	Between Groups	10.066	4	2.517	.885	.481
	Within Groups	128.016	45	2.845	1500,000	
	Total	138.082	49	0.70340251103103		
creatinine	Between Groups	.004	4	.001	.948	,445
	Within Groups	.052	45	.001	5.0000000	
	Total	.057	49			
cholesterol	Between Groups	2771.733	4	692.933	.518	.723
	Within Groups	60218.575	45	1338.191	0.0000000000000000000000000000000000000	
	Total	62990.309	49	0.0000000000000000000000000000000000000		

Multiple Comparisons

Weight

Tukey HSD

(I)	(J)				95% Confide	ence Interval
oreo_s	oreo_s	Mean				
eed_4	eed_4	Difference (I-J)	Std. Error	Sig.	Lower Bound	Upper Bound
1	2	23.75000	9.44383	.105	-3.0842	50.5842
	3	26.35000	9.44383	.057	4842	53.1842
	4	24.35000	9.44383	.092	-2.4842	51.1842
	5	22.95000	9.44383	.126	-3.8842	49.7842
2	1	-23.75000	9.44383	.105	-50.5842	3.0842
	3	2.60000	9.44383	.999	-24.2342	29.4342
	4	.60000	9.44383	1.000	-26.2342	27.4342
	5	80000	9.44383	1.000	-27.6342	26.0342
3	1	-26.35000	9.44383	.057	-53.1842	.4842
	2	-2.60000	9.44383	.999	-29.4342	24.2342
	4	-2.00000	9.44383	1.000	-28.8342	24.8342
	5	-3.40000	9.44383	.996	-30.2342	23.4342
4	1	-24.35000	9.44383	.092	-51.1842	2.4842
	2	60000	9.44383	1.000	-27.4342	26.2342
	3	2.00000	9.44383	1.000	-24.8342	28.8342
	5	-1.40000	9.44383	1.000	-28.2342	25.4342
5	1	-22.95000	9.44383	.126	-49.7842	3.8842
	2	.80000	9.44383	1.000	-26.0342	27.6342
	3	3.40000	9.44383	.996	-23.4342	30.2342
	4	1.40000	9.44383	1.000	-25.4342	28.2342

Appendix-13

Table 1: Number of eggs in the ovary of *C. punctatus* after feeding *L. leucocephala* leaf

ANOVA

	Sum of Squares	df	Mean Square	F	Sig.
Between Groups	240.000	4	60.000	15.000	.000
Within Groups	40.000	10	4.000	20004556223	
Total	280.000	14			

Multiple Comparisons

negg

					95% Confid	ence Interval
(I) pleaf	(J) pleaf	Mean Difference (I- J)	Std. Error	Sig.	Lower Bound	Upper Bound
1	2	4.000	1.633	.179	-1.37	9.37
	3	6.000°	1.633	.028	.63	11.37
	4	8,000*	1.633	.004	2.63	13.37
	5	12.000	1.633	.000	6.63	17.37
2	1	-4.000	1.633	.179	-9.37	1.37
	3	2.000	1.633	.738	-3.37	7.37
	4	4.000	1.633	.179	-1.37	9.37
	5	8.000*	1.633	.004	2.63	13.37
3	1	-6.000°	1.633	.028	-11.37	63
	2	-2.000	1.633	.738	-7.37	3.37
	4	2.000	1.633	.738	-3.37	7.37
	5	6.000	1.633	.028	.63	11.37
4	1	-8.000	1.633	.004	-13.37	-2.63
	2	-4.000	1.633	.179	-9.37	1.37
	3	-2.000	1.633	.738	-7.37	3.37
	5	4.000	1.633	.179	-1.37	9.37
5	1	-12.000°	1.633	.000	-17.37	-6.63
	2	-8.000*	1.633	.004	-13.37	-2.63
	3	-6.000°	1.633	.028	-11.37	63
	4	-4.000	1.633	.179	-9.37	1.37

^{*.} The mean difference is significant at the 0.05 level.

Appendix-14

Table 2: Number of eggs in the ovary of *C. punctatus* after feeding *L.leucocephala* seed

ANOVA

	Sum of Squares	df	Mean Square	F	Sig.
Between Groups	177.600	4	44.400	11.100	.001
Within Groups	40.000	10	4.000	Chombassa	
Total	217.600	14			

Multiple Comparisons

neggg

			1 1		95% Confid	ence Interval
(I) seed	(J) seed	Mean Difference (I- J)	Std. Error	Sig.	Lower Bound	Upper Bound
1	2	2.000	1.633	.738	-3.37	7.37
	3	4.000	1.633	.179	-1.37	9.37
	4	6.000*	1.633	.028	.63	11.37
	5	10.000	1.633	.001	4.63	15.37
2	1	-2.000	1.633	.738	-7.37	3.37
	3	2.000	1.633	.738	-3.37	7.37
	4	4.000	1.633	.179	-1.37	9.37
	5	8.000*	1.633	.004	2.63	13.37
3	1	-4.000	1.633	.179	-9.37	1.37
	2	-2.000	1.633	.738	-7.37	3.37
	4	2.000	1.633	.738	-3.37	7.37
	5	6.000	1.633	.028	.63	11.37
4	1	-6.000*	1.633	.028	-11.37	63
	2	-4.000	1.633	.179	-9.37	1.37
	3	-2.000	1.633	.738	-7.37	3.37
	5	4.000	1.633	.179	-1.37	9.37
5	1	-10.000°	1.633	.001	-15.37	-4.63
	2	-8.000*	1.633	.004	-13.37	-2.63
	3	-6.000°	1.633	.028	-11.37	63
	4	-4.000	1.633	.179	-9.37	1.37

^{*.} The mean difference is significant at the 0.05 level.

Appendix-15

Table 3: Number of eggs in the ovary of *O. niloticus* after feeding *L. leucocephala* leaf

ANOVA

oreo lega Sum of Squares Mean Square Sig. Between Groups 248.400 4 62.100 38.812 .000 Within Groups 16.000 10 1.600 Total 264.400 14

Multiple Comparisons

oreo_legg

					95% Confidence Interval		
(I) (J) oreo oreo leaf leaf	Mean Difference (I- J)	Std. Error	Sig.	Lower Bound	Upper Bound		
1	2	5.000°	1.033	.005	1.60	8.40	
	3	8.000*	1.033	.000	4.60	11.40	
	4	9.000*	1.033	.000	5.60	12.40	
	5	12.000°	1.033	.000	8.60	15.40	
2	1	-5.000°	1.033	.005	-8.40	-1.60	
	3	3.000	1.033	.091	40	6.40	
	4	4.000°	1.033	.020	.60	7.40	
	5	7.000°	1.033	.000	3.60	10.40	
3	1	-8.000*	1.033	.000	-11.40	-4.60	
	2	-3.000	1.033	.091	-6.40	.40	
	4	1.000	1.033	.863	-2.40	4.40	
	5	4.000	1.033	.020	.60	7.40	
4	1	-9.000	1.033	.000	-12.40	-5.60	
	2	-4.000°	1.033	.020	-7.40	60	
	3	-1.000	1.033	.863	-4.40	2.40	
	5	3.000	1.033	.091	40	6.40	
5	1	-12.000°	1.033	.000	-15.40	-8.60	
	2	-7.000°	1.033	.000	-10.40	-3.60	
	3	-4.000°	1.033	.020	-7.40	60	
	4	-3,000	1.033	.091	-6.40	.40	

^{*.} The mean difference is significant at the 0.05 level.

Appendix-16

Table 4: Number of eggs in the ovary of *O. niloticus* after feeding *L.leucocephala* seed

ANOVA

	Sum of Squares	df	Mean Square	F	Sig.
Between Groups	206.400	4	51.600	12.900	.001
Within Groups	40.000	10	4.000	more and	
Total	246.400	14			

Multiple Comparisons

oreo_segg

(1)	(J)				95% Confid	ence Interval
oreo oreo see see d d	Mean Difference (I- J)	Std. Error	Sig.	Lower Bound	Upper Bound	
1	2	2.000	1.633	.738	-3.37	7.37
	3	6.000°	1.633	.028	.63	11.37
	4	8,000*	1.633	.004	2.63	13.37
	5	10.000°	1.633	.001	4.63	15.37
2	1	-2.000	1.633	.738	-7.37	3.37
	3	4.000	1.633	.179	-1.37	9.37
	4	6.000°	1.633	.028	.63	11.37
	5	8.000*	1.633	.004	2.63	13.37
3	1	-6.000°	1.633	.028	-11.37	63
	2	-4.000	1.633	.179	-9.37	1.37
	4	2.000	1.633	.738	-3.37	7.37
	5	4.000	1.633	.179	-1.37	9.37
4	1	-8.000*	1.633	.004	-13.37	-2.63
	2	-6.000°	1.633	.028	-11.37	63
	3	-2.000	1.633	.738	-7.37	3.37
	5	2.000	1.633	.738	-3.37	7.37
5	1	-10.000°	1.633	.001	-15.37	-4.63
	2	-8.000*	1.633	.004	-13.37	-2.63
	3	-4.000	1.633	.179	-9.37	1.37
	4	-2.000	1.633	.738	-7.37	3.37

^{*.} The mean difference is significant at the 0.05 level.